wWww.prepp.in .repp

Your Personal Exams Guide

UGC NET PAPER 2 DECEMBER 3, 2021 SHIFT 1 EDUCATION QUESTION PAPER

Topic:- 03rd_Set7_A

1) The following Table-I shows the Sales and Earnings of ABC Corporation in the last
eight vears from 2013-2020. and Table-Il shows the percentage of Sales in four
different categories 1n the vear 2020. Based on the data in the tables. answer the

guestions :
Table — I : Year—wise Sales and Earnings
Vear | . Sales ~ Earnings
(n Re. Billion) | (in Rs. Mallion)
2013 3 500
2014 6 900
2015 3 200
2016 7 400
2017 5 700
2018 9 800
2019 8 700
2020 10 600

Table — II : Category-wise sales 1n the vear 2020

Category Percentage (%) of Sales

Computers 25%
TVs 20%
Smartphones 40%
Miscellaneous 15%

What is the average (in ¥ billions) of the sales of ABC Corporation for the period 2013-20207?
(1) 5.9 (2) 6.0

@ 70 4 8.0
4 & T Triert TALE, FUREE a9 2013-2020 F T o8 a9 H o oft 9T H S £ aen

atferrt I1 99 2020 Tsshl % iawa & =0 3Tor—37em 3o § gorrd 2 | aners § 28 T a7Fsl 3 H78R
9T U9 T S S,

Allerl — I ; avar, fased tg H=

. Terzht M
ki (%. fatemm) | (3. fafeem)
2013 3 500
2014 6 900
2015 8 200
2016 7 400
2017 D 700
2018 9 200
2019 8 700
2020 10 600

Tter=t — 11 : 2ofima, =9 2020 # &3

it | fehr i afowma (%)
HEA 26%
Z1.4t. 20%
T B 40%
¥4 15%

a9 2013-2020 =1 e % forw vl di. sraiym 6 bl =1 siva (3. fafem ) w0 27

(I 55 (2 6.0
3 70 (4) 8.0
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[Question ID = 2579][Question Description = Q01_GP_24NOV_51_SHAAN_Shift1]
1. 1 [Option ID = 10313]

2. 2 [Option ID = 10314]

3. 3 [Option ID = 10315]

4, 4 [Option ID = 103186]

Correct Answer :-

s 1 [Option ID = 10313]

2) The following Table-I shows the Sales and Earnings of ABC Corporation in the last
eight vears from 2013-2020, and Table-Il shows the percentage of Sales in four
different categories 1n the vear 2020. Based on the data in the tables. answer the

guestions :
Table — I : Year—wise Sales and Earnings
Vear | . Sales ~ Earnings
(n Re. Billion) | (in Rs. Mallion)
2013 3 500
2014 6 900
2015 3 200
2016 7 400
2017 5 700
2018 9 800
2019 8 700
2020 10 600

Table — I1 : Category-wise sales 1n the vear 2020

Category Percentage (%) of Sales

Computers 25%
TVs 20%
Smartphones 40%
Miscellaneous 15%

For which vear was the percentage (%) Increase in earnings from the previous year highest?
1) 2014 @) 2015

(3) 2016 (4) 2017
f9 & T aifer v, FiEE F a9 2013-2020 % | o8 79 Fi fEf o e w5 ot 2 am

atferst I1 99 2020 Teshl % iawrd = =W 3Tor—37em ST § g 2 | atfersl § 28 T s7e 3 H7uR
9T U3 1 I S

ATl — I ; avar, fased tg H=

. e )
= (=. faremm) | (3. fafemm)
2013 3 500
2014 6 900
2015 8 200
2016 7 400
2017 ) 700
2018 9 800
2019 8 700
2020 10 600

et — 11 ; 2fima, =9 2020 # &3

| e i affeEa (%)
FEAA 256%
J1.4t. 20%
T B 40%
¥4 15%

e o 7 T oS < geE A e (%) T T o7

(1) 2014 (2) 2015

3 2016 4) 2017

[Question ID = 2580][Question Description = Q02_GP_24NOV_51_SHAAN_Shift1]
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. 1 [Optien ID = 10317]
2 [Option ID = 10318]

3 [Option ID = 10319]

. 4 [Option ID = 10320]

N S PO L ey

Correct Answer :-
e 1 [Option ID = 10317]
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3) The following Table-I shows the Sales and Earnings of ABC Corporation in the last
eight years from 2013-2020, and Table-II shows the percentage of Sales in four
different categories in the vear 2020, Based on the data in the tables, answer the

guestions :
Table — I : Year—wise Sales and Earnings
Year | . Sales _ Earnir}gt}
(in Rs. Billion) | (in Rs. Million)
2013 3 500
2014 6 900
2015 8 200
2016 7 400
2017 5 700
2018 9 800
2019 8 700
2020 10 600

Table — I1 : Categoryv-wise sales in the vear 2020

Category Percentage (%) of Sales

Computers 25%
TVs 20%
Smartphones 40%
Miscellaneous 15%
What was the ratio of earnings to sales in 20157
1 25:1 © 1:4
3 1:25 4 1:40

1 & T e TALE, FUREE F a9 2013-2020 F T o8 a9 A o it T H S £ aen
arfers I 39 2020 el % viaed = =1 ST —otem Sl J g0 2 | aifer § 88 70 318 % 379N

U7 U9 BT I ST :

A — 1 : a9ar fesg @ 3

I, okl A
(=. fater=m) | (3. faferm)
2013 3 500
2014 6 a00
2015 8 200
2016 73 400
2017 5 700
2018 9 300
2019 8 700
2020 10 600
arterser — IL ; Zofima, =9 2020 9 faspa
ot | feht R afawaa (%)
FE 25%
Z1.40. 20%
R B 40%
374 15%
a8 2015 9 317 @ b = sfi= =1 s @
1y 25:1 (2 1:4
(3) 1:25 4y 1:40

[Question ID = 2581][Question Description = Q03_GP_24NOV_S1_SHAAN_Shift1]
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. 1 [Optien ID = 10321]
2 [Option ID = 10322]

3 [Option ID = 10323]

. 4 [Option ID = 10324]

N S PO L ey

Correct Answer :-
e 1 [Option ID = 10321]
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4) The following Table-I shows the Sales and Earnings of ABC Corporation in the last
eight years from 2013-2020, and Table-II shows the percentage of Sales in four
different categories in the vear 2020, Based on the data in the tables, answer the

guestions :
Table — I : Year—wise Sales and Earnings
Year | . Sales _ Earnir}gt}
(in Rs. Billion) | (in Rs. Million)
2013 3 500
2014 6 900
2015 8 200
2016 7 400
2017 5 700
2018 9 800
2019 8 700
2020 10 600
Table — I1 : Categoryv-wise sales in the vear 2020
Category Percentage (%) of Sales
Computers 25%
TVs 20%
Smartphones 40%
Miscellaneous 15%

Which of the following statements can be deduced from the data given in the Tables I and II?
(A) Sales of Smartphones in the vear 2020 exceeded total sales in the vear 2013.

(B)  Earnings for the vear in which earnings were highest were more than the sales for the

vear 1in which sales were lowest.

(C) If in the year 2020. the sales of Smartphones had been 10% less, and the sale of
Computers had been 10% higher, then the sales of Smartphones would have been less

than the sales of Computers.

Choose the correct answer from the options given below :

1) (@A@only
(3) (A) and (C) only

5 & 7 e wELE. FieE F a9 2013-2020 % T oS 91 1 BEA 31T o7 B Ul & AW
atferst I1 399 2020 Teshl % iawrd & =W 3Tor—37em S § gorrd 2 | atfersl § 128 7T 37Fel % H71UR

9T g T I S,

(2)
C))

(A) and (B) only
(C) only

Atlel — I ; avar fased tg 5=

¢ IEED] )
ES (z. farem) | (3. Tafemm)
2013 3 500
2014 6 900
2015 8 200
2016 i 400
2017 ) 700
2018 9 800
2019 8 700
2020 10 600

Tter=t — 11 : 2ofima, =9 2020 # &

| e i affeEa (%)
FEA 26%
314t 20%
T2 B 40%
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Fr=fafig § 9 259 @/a wu= aiferer 1 ok 1 F fBu o atfesl & swar w FBmfia B smoasar 27
(&) =9 2020 ® 3 TREE F1 f6#, 2013 F T o 7 srfu o)

(B) Talfies 31 ot a9 o gg A —an fphl are ad | 33 feeht @ stfees o)
(©)  FR a¥ 2020 ¥ wERA 1 e 10 wlewa wu gl St siv Fog $i feht 10 fa siftes 2

@ HAR F1 frefl A gor 8§ FewE A fuh ' g o

Fr5 fau 7o et O O T9 SO 1 9 i

1) w9 (A)
(3) e (A) IR (C)

[Question ID = 2582][Question Description = Q04_GP_24NOV_S1_SHAAN_Shift1]

1. 1 [Option ID = 10325]
2. 2 [Option ID = 10326]
3. 3 [Option ID = 10327]
4. 4 [Option ID = 10328]

@) F= (A) IR (B)
@) =Fas (O)
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3) The following Table-I shows the Sales and Earnings of ABC Corporation in the last
eight vears from 2013-2020, and Table-Il shows the percentage of Sales in four
different categories 1n the vear 2020. Based on the data in the tables. answer the

guestions :
Table — I : Year—wise Sales and Earnings
Vear | . Sales ~ Earnings
(n Re. Billion) | (in Rs. Mallion)
2013 3 500
2014 6 900
2015 8 200
2016 7 400
2017 5 700
2018 9 800
2019 8 700
2020 10 600
Table — I1 : Category-wise sales 1n the vear 2020
Category Percentage (%) of Sales
Computers 25%
TVs 20%
Smartphones 40%
Miscellaneous 15%

What is the sum total (in T millions) of the earnings of ABC Corporation for the peried

2013-2019?
D 4800 (2) 4200
3) 4000 (4) 5000

& T oo oA FHiem % a¥ 2013-2020 F G oe st i fEh o o B it &
atferst I1 99 2020 Teshl % iawrd 1 =1 3Tor—37em S § gorrd 2 | atfersl § 28 T 377e] % 78R

mﬂ‘ﬁaﬂﬁ?éiiaﬂ z

ATl — I ; avar fased tg 5=

. =t ]
= (z. faremm) | (3. fafemm)
2013 3 500
2014 6 900
2015 8 200
2016 7 400
2017 D 700
2018 9 800
2019 8 700
2020 10 600

arterst — I1 ; 2nfima, 39 2020 o 56
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it | fehr i afowam (%)
HEA 256%
314t 20%
T B 40%
¥4 15%

a 2013-2019 i srafa % forw wafi i, whates 6 om3 = T T (v, e 9) ®n?

(1) 4800 (2)y 4200
(3) 4000 (4) 5000

[Question ID = 2583][Question Description = Q05_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10329]

2. 2 [Option ID = 10330]

3. 3 [Option ID = 10331]

4. 4 [Option ID = 10332]

Carrect Answer :-

e 1 [Option ID = 10329]

Topic:- 03rd_Set7_B

1) Which of the following level of teaching lays stress on critical sifting of ideas at the highest
cognitive level?

(1) Memory level (2) Understanding level

(3) Reflective level (4) Autonomous development level

freferfas & & foreor 1 #7 @1 wRH o= FETEE TR W A $ A S guEE T O

S 37
(1) 0 = &N (2) AT T ER
(8 Tamel faow =R (4) T | W)

[Question ID = 2584][Question Description = Q06_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10333]
2. 2 [Option ID = 10334)
3. 3 [Option ID = 10335]
4. 4 [Opticn ID = 10336]

Correct Answer :-
& 1 [Option ID = 10333]

Which of the following are the highest taxonomic categories in the cognitive, affective and
psychomotor domains of learning?

(A) Analysis
(B) Evaluation
(C) Awareness

(D) Characterization
(E) Naturalhization

Choose the correct answer from the options given below :
1)  (A). (B) and (C) only (2) (B), (D) and (E) only
(3  (B).(C)and (D) only (4@ (C). (D) and (E) only

f=faflas & 9 =9 & gamers, aaees oK gavEers S % g § souaw arfipa Aftet 27
(A) v

B g
(CQy 1S
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D) afieaem
(E) ol

= feu 7o faemeal d & 95 39 1 =99 hifaw -

(1) =ESA). (B) 3R (C)
() w=a (B), (C) 3 (D)

(2) Haa (B), (D) IR (E)
@) FFa (0), (D) 3R (E)

[Question ID = 2585][Question Description = Q07_GP_24NOV_51_SHAAN_Shift1]
1. 1 [Option ID = 10337]
2. 2 [Option ID = 10338]
3, 3 [Option ID = 10339]

4. 4 [Option ID = 10340]

Carrect Answer ;-

1 [Option ID = 10337]

3) Match List I with List IT
ListI List IT
Helping behavior of effective teaching Description
(A) Using student 1deas of contributions (). Warm and nurturing relationship with
learners
(B) Structuring (II) Teacher statements fo encourage
students to elaborate on an answer
(C) Probing (IIT) Teacher comments for the purpose of
orgamzing what 1s to come
(D) Teacher affect (IV) Taking a student's response and
repeating or applying it
Choose the correct answer from the options given below :
(1) (A)-(IV), (B)-d1D), (C)-aD), (D)-(D)
2  (A-@D, B)-1D, (C)-1Id), (D)-(IV)
(3) (A)'(ID!« {B)'{Ds (C)'(I‘U)U {D)'(III)
9 QD). B-AV), (O)-D), O)-AD
gfi-I % =1 gei-I1 =1 e it -
I THI-IT

(&) Taetd=i % Frem = T = sTEm
(B) ferdfeor

(©) <Arg-ugad

(D)} A9 U9

et o fapeat # @ wd v W === A
1y  A-aV), (B)-ID). (C)-II), (D)-(I)
@2y  @-D. B-dD. (C-dID. (D)-AV)
3y A)-aD. B)-D), (C)-IV). (D)-(ID
(4)  (A)-(D). (B)-(IV). (C)-(I). (D)-(I)

(D)  STRFTReRaietl % T TG U9 STeHM ey

(I < =i foega w6 % fou, IEi = wetza
F =g TWaaF F HH

(III) Gwiad 1 oafee i = €yT § HASA9H
i fafomEi
SIS

S

[Question ID = 2586][Question Description = Q08_GP_24N0OV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10341]

2. 2 [Option ID = 10342]
e | 7 Fyat3mm I — A0247219
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| 4. 4 [Option ID = 10344]

Carrect Answer ;-

e 1 [Option ID = 10341]

Given below are two statements :

Statement I: In norm-referenced testing of students, test data helps us determine a

students place or rank.

Statement IT: In Criterion-referenced testing, the test data tells us about a student’s level

of proficiency.

In the light of the above statements. choose the correct answer from the options given below :

(1)

(2)

(3)

(4)

Both Statement I and Statement II are true

Both Statement I and Statement I are false

Statement I 1s true but Statement II 1s false

Statement I 1s false but Statement II is true

frei 21 oA feg w2

Fod () :  Tonfemn & e weivda waw A, wham ates TRl % we an oofi = Raifa 6 9 gl

TETEA HEE

oA (1D :  Fren-wefifa o 4, wiiem-atas o 51 $i Fgea F == =1 waw 3 |

YU HPF A °, T B o et 8 ¥ = s w3 it

(1)

(2)

(3)

(4)

Fo7 I 3 II 5 519 3 |
FUT [ IIgH IT 2 |
7 [ 97 2, <ifbd ua 11 319 2 |

FU [ ¥10e &, AreT wee 18 2 |

[Question ID = 2587][Question Description = Q09_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10345]
2. 2 [Option ID = 10346)
3. 3 [Option ID = 10347]
4. 4 [Option ID = 10348)

Carrect Answer ;-
& 1 [Option ID = 10345]

Given below are two statements : One 1s labelled as Assertion (A) and the other 1s Iabelled as
Reason (R) :

Assertion (A): Modern and ICT based teaching support requires some technical

knowledge on the part of the teacher and learner.

Reasons (R) : Both teachers and learners have to be provided orientation in use of the

various support tools and techniques in an intelligent way.

prepp
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In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are frue and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are frue but (R) is NOT the correct explanation of (A)
(3)  (A)is true but (R) is false

(4) (A) 1s false but (R) 1s true

L L T | oY ;

= 31 O T Y F : TF AR (Assertion A) % W H fafigd § @ g@U 3wF w0 (Reason R) %

"-E':lﬁ
iR (A) Mg 3R 3., amata forem wema % o e o sifrmeeal % TR W
5 ThAIRl T 1 STETIRa STifed 2

%107 (R) : Toreqer 3Tt srfermepataal T =1 fafay geres Suson aur ai® % TSRl 21 ¥
T 2l SRR T B |

SURITE BU o Helieh A, 9 2T T forredl 4 U WY ST SHL ol HAH i, ;

Q) (AR @) FE T 2 8l R), (A) F T = )
@ (&) IR ®) I T S ®), Q) e @R

8) (A)TH ® e (R) 3w 31

49  (A) = 2 o (R) T 21

[Question ID = 2588][Question Description = Q10_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10349]
2. 2 [Option ID = 10350]
3. 3 [Option ID = 10351]
4. 4 [Option ID = 10352
Correct Answer ;-

« 1 [Option ID = 10349]

6) Which of the following is an example of qualitative research?

(1) Experimental research (2) Ex post facto research

(3) Descriptive survey research (4) Grounded theory research

frferfiga o @ 1 7 T WY P U I B 7

(1)  wE=TeHs MY (2) A WY
(8)  foreonen= was Ty (@) smaites fegyiaues iy

[Question ID = 2589][Question Description = Q11_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10353]
2. 2 [Option ID = 10354]
3. 3 [Option ID = 10355]
4. 4 [Option ID = 10356]

Carrect Answer ;-
& 1 [Option ID = 10353]

Identify from the list below the threats to internal validity of research.
(A) Interaction of selection and independent variable (X)
(B)  Statistical regression

(C)  Interaction of pretesting and X

prepp
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(D)  Diafferential selection of subjects

(E)  Experimental mortality

Choose the correct answer from the options given below :
(1) (B), (D) and (E) only (2) (A (B) and (C) only
3y (B). (C) and (D) only (4)  (C). (D) and (E) only

191 41 1 e B A e R e i B siafor Aaewr b fn R 3 37

(A) T Fi AR IR @A = (X)
B) wifeThm g

(C) e i sFahea 3 X

M) o= =1 ovoim =

(E) vt v

H= 12U o {awedi 0 O g3 s = 994 Hife
(1) #a= (B). (D) 31 (E) (2) FHaet (A), (B) HR(C)
(3) A (B). (C) 3R (D) (4) Faa (C). (D) 317 (E)

[Question ID = 2590][Question Description = Q12_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10357)

2. 2 [Option ID = 10358]

3. 3 [Option ID = 10359]

4. 4 [Option ID = 10360

Correct Answer ;-

e 1 [Option ID = 10357]

8) Match List I with List IT
Tast I Tast IT
Research Steps Characteristics
(A) Research problem definition (I) Appropriateness of techniques and
their application
(B) Formulation of research hypothesis (II) Development of a conceptual
framework which 1s in accord wiath
hypothesis of research
(C) Design of research (III}) Defining the variables to be related in
unambiguous terms
(D) Data Analysis AV) Academic and social value of the
research guestion to be weighed
Choose the correct answer from the options given below :
(D (A)-(10), (B)-(IV), (C)-(M), D)-dD)
(2) (A)-(1V), (B)-I1D), (C)-AD. (D)-(D)
(3) (A)'(D- (B)_(II)r (C)_(III)! (D)‘(IV)
(4) (A)-(ID), (B)-(I), (C)-AV), (D)-IIT)
11 % T -1 e i
i1 g1
e = =TT aar
(A) 9y wEEr it (1) Al Rl ST St S5 SN
(B) Y TTRCT H EHE D TF SEUTNeT® T B fawm = oAy f
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(C) =g =1 IEY (D) =R =t G2 Tegraett H Ao 5 |

(D) <o fagemu (IV) ¥ 999 % 3FhGES 3 gmi=s 5o =
qrer |

et T fopeat & 4w s W == il

(1)  A)-db. (B)-(IV). (C)-(D). (D)-(I0)
2y (A)-IV), (B)-IID. (C)-AD). (D)-(I)
3 @D ®-ID. (O-AID). (D)-AV)

(4) (A)-{ID), (B)-(I), (C)-AV). (D)-(IIT)

[Question ID = 2591][Question Description = Q13_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10361]

2. 2 [Option ID = 10362

3. 3 [Option ID = 10363]

4. 4 [Option ID = 10364

Correct Answer :-

e 1 [Option ID = 10361]

Given below are two statements :

Statement I: Scientific research 1s systematic, controlled, empirical and critical

mnvestigation of hypothetical propositions.

Statement IT: Population of research need not be defined in gqualitative and quantitative

researches.

In the hight of the above statements, choose the correct answer from the options given below :
(1) Both Statement I and Statement I1 are true
2 Both Statement I and Statement IT are false
(3) Statement I 1s true but Statement II is false

(4) Statement I 1s false but Statement II is true

#H & #ya Re T 3 -

FoR (I): i MY TeReTTcah TEaE B saaier, FEfE, sEaaeE it SeteTeEs ST 2 |

FU (D) : TITRHT HR WA I § AL F TN H A F F STEIwA TG g |

IUUE HUF F e °, A= 50 7 fomredi § @ 981 I W = Fi

(1) o I3 a1 aea 2 |
(2) w1 I I o9 2 |
(3) Wy Iued 2, wifea sy I smeea 2
() o 10 2, 9 w99 I 5 21

[Question ID = 2592][Question Description = Q14_GP_24NOV_51_SHAAN_Shift1]



wWww.prepp.in .repp

Your Personal Exams Guide
. 1 [Option ID = 10365]
2 [Option ID = 10366]
3 [Option ID = 10367]
. 4 [Option ID = 10368]

N S PO L ey

Correct Answer :-
e 1 [Option ID = 10365]

Given below are two statements : One 1s labelled as Assertion (A) and the other is labelled as
Reason (R) :

Assertion (A):  Actual settings are the direct source of data and the researcher is the key

Instrument in qualitative research.

Reasons (R) : The purpose underlying qualitative researches 1s relatively more directed

at depiction of reality rather than arriving at context free generalizations.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) 1s true but (R) 1s false

) (A) is false but (R) is true

= 3 A f3u g 2 ; uw ifimuA (Assertion A) < = # fafad ® af guw su% w0 (Reason R) &

mﬁ
TR (A) : At YRS ARSI o UeAa |ra 2 TR IeERal TOTeHh Ty =R g% ST # |
= (R) : TS Y 1 IS UEHTH TR 9 UG o ST araterkdr =i SATETEHa

w0 Y I Yoad =9 | g B 2 |

Y U o AT H, 9 €Y T faehedt § U gey 30t I e i

@O (@R ®) I E SR ®), Q) F wE e E
@ ()R ®) I T 2 At R), (A) B wE e = 2

8) (AT 2, wfeT (R) o 21

@)  (A) 35 2 ot R) T3 2

[Question ID = 2593][Question Description = Q15_GP_24NOV_S$1_SHAAN_Shift1]
1. 1 [Option ID = 10369]
2. 2 [Option ID = 10370
3. 3 [Option ID = 10371]
4. 4 [Option ID = 10372]

Correct Answer :-
& 1 [Option ID = 10369]

In describing elements of communication, a person or an event which provides verbal or
non-verbal use to which someone can respond 1s known as,

(1) Message (2) Source
(3) Channel (4) Communication context
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A =h dodl =h 999 H, U P49 -] §5h—HAT g0 HIESS 11 -AHITESR S&hd SY% B 598 YY

3t 3 grr wfafe <t < gedt 2, e AT 2 -

=

(1) =W (2 =4

(3 A () (4) TIIM T
[Question ID = 2594][Question Description = Q16_GP_24N0V_S51_SHAAN_Shift1]
1. 1 [Option ID = 10373]
2. 2 [Option ID = 10374]

3. 3 [Option ID = 10375]
4, 4 [Option ID = 10376]

Correct Answer ;-
e 1 [Option ID = 10373]

Given below are two statements : One 1s labelled as Assertion (A) and the other is labelled as
Reason (R) :

Assertion (A): Agenda building 1s a collective communication process i which media,
government and the citizenry reciprocally influence one another.

Reasons (R) : Agenda building presumes cognitive effects and inactive audience with less
societal-level effects.

In the hght of the above statements, choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of {A)
(3) (A is true but (R) is false

(4) (A) 1s false but (R) is true

T 21 e Ty T 2 ¢ w AR (Assertion A) % BT ¥ fafaa 2 a1 @0 3WF FRU (Reason R) %
=G

STTHTA (A) : FH T T T AnteE quew H-Tem 3 S Jifsa ETR S TR TWER
U IR W I i 3 |

F (R) : FEGH] GHAIHS FHTE SIS Ast B 9 SEIE T are JEa 2 |

FIYUTH YA B AT H, 4 19 U feeredl § ¥ HEl IHL B A hilAg

(1 (A) R @) T T 3 R (R). (A) T = 2

@ (A) I R) T TA T A (R), (A) i T o 6 2
(3) (A TEE A (R) sEa g

4 (A HE 2 o (R) 9T 2

[Question ID = 2595][Question Description = Q17_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10377]
2. 2 [Option ID = 10378]
3. 3 [Option ID = 10379]
4, 4 [Option ID = 10380]

Correct Answer ;-
e« 1 [Option ID = 10377]

(Glven below are two statements :

Statement I: The art of Mass Communication is much more simple than of face to face

communication or any type of communication.

Statement II: Each of us uses 35 (Sight, Sound and Smell) and 2T (Touch and Taste) when

we communicate with others.

i T Ty MRl Py (g ey T By Ry L ey e L e Nt e [T PN R ) P ok Mo R R i T I Ry N SO g it L et Uy PR Jal o gl
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(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement II are 1ncorrect
(3) Statement I is correct but Statement II 1s incorrect
(4) Statement I is incorrect but Statement II 1s correct
fRagFR R m
FoF (I): TSR i el JEI-TE TUY 2R 37 fRE TR % wower il st iy e 21

FuT (ID): 9 20 00 = WY TYSY i & 29 ¥ W 38 (3, @i ot ) 3 2T (v o1k )

given below :

. =
=1 THEF 4] 7 |

IIUH U F e ¥, = v o fwent § € @ T o wm Fifem

(1)

@

(3

(4)

FuF [ R A 921 2 |
A I 31 IT g1 7Teid 2 |

F9R 1T 2, o %9 11754 2 |

FI 1 Tem 2, e w5 LT3 2 |

[Question ID = 2596][Question Description = Q18_GP_24N0V_S1_SHAAN_Shift1]
1. 1 [Option ID = 10381]
2. 2 [Option ID = 10382]
3. 3 [Option ID = 10383]
4, 4 [Option ID = 10384]

Correct Answer ;-
a 1 [Option ID = 10381]

14)

Feedback reflects the reactions of the audience when :

(&)
(B)
(0)
D)

One knows the effects of communication.
One knows the quality of content of the message.
One knows the future prospect of the object of communication.

One knows the financial implications of the communication.

Choose the most appropriate answer from the options given below :

(D
3

(A). (B). (D) only (2) (B), (D). (C)only
(A). (C). (D) only (1 (A, (B). (C) only

gAFReR (Freds) dva 6 wfaten = gt &

(&)

(B)

(C)

D)

g TUNY[ % WHE Bl AHG 2

T HoxT = ferymrearg <hl I A 2

BIE WUYNT hl A diaen ) gaEA A S 2

A i st el A e 2 |
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1) %I (A), (B). D) ©2) a4 (B). (D). (C)
(3) = (A). (C). D) @) Faa (A). (B). (C)

[Question ID = 2597][Question Description = Q19_GP_24NOV_S$1_SHAAN_Shift1]
1, 1 [Option ID = 10385]
2. 2 [Option ID = 10386]
3. 3 [Option ID = 10387]
4. 4 [Option ID = 10388]

Carrect Answer ;-
s 1 [Option ID = 10385]

The power which comes through connectedness of one’s words matching one’s feelings, body
and facial expression in communication process 1s known as :

(1) Conformity (2) Congruence
(3) Collaboration {(4) Control

o7 i St wwor <6 ufew A et o st st suht et % e, ol i wemfmen & @giee g
forerelt 71, 58 Fad % -

1)  |EEEYa (2) =T
(8) Tl (CYRREREL

[Question ID = 2598][Question Description = Q20_GP_24N0OV_S51_SHAAN_Shift1]
1. 1 [Option ID = 10389]
2. 2 [Option ID = 10390]
3. 3 [Option ID = 10391]
4, 4 [Option ID = 10392]

Correct Answer :-
e 1 [Option ID = 10389]

The owner of a mobile phone charges his customer 25% more than the cost price. If a
customer paid 8.000/- for a mobile phone, then what was the cost price of the mobile?

(1) Rs. 5600 (2) Rs. 6000
(3) Rs. 6400 (4) Rs. 7000

e FiH 1 T WEE ¥ S ged 1 25% AT ofdl 2 | TR uTes A uemge w1 8,000/-
TIU 1 PAA A, T W H A god T4 97

(1) 5600/ v (2) 6000/-7ug
3 6400/- T2 (4) 7000/-zuw

[Question ID = 2599][Question Description = Q21_GP_24N0OVY_S51_SHAAN_Shift1]
1. 1 [Option ID = 10393]
2. 2 [Option ID = 10394]
3. 3 [Option ID = 10395]
4, 4 [Option ID = 10396]

Correct Answer ;-
e 1 [Option ID = 103%3]

17) :
In the letter series
B RPooans
What 1s the next letter?
(D L @2y Z
3 P 4 X

B.H,R.F, .... ...... 5 i | 377 &R HET-91 20 ?

O L @ Z
@ P @ X
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[Question ID = 2600][Question Description = Q22_GP_24NOV_51_SHAAN_Shift1]
1 [Option ID = 10397]

2. 2 [Option ID = 10398]

3, 3 [Option ID = 10399]

4, 4 [Option ID = 1{}4DD]

Cnrrect hnswer
& 1 [Option ID = 10397]

18)  Given the relationshap between variables Y and X : Y = XZ; if X changes by 6%, What is the

percentage change in Y?
(L) ~ 36% 2y ~12%
(3) ~ 8% 4 ~6%

Yelt X dm @ mag Y=X2 % =7 § 2| 3R X d 6% &1 uiaeH 51, a1 Y ¥ "fawd (%) e 7

Tm?

(1) ~36% 2 ~12%

()] ~ 8% 4 ~6%

[Question ID = 2601][Question Description = Q23_GP_24NOV_S1_SHAAN_Shift1]
1 [Option ID = 10401]

1 2 [Option ID = 10402]

3. 3 [Option ID = 10403]

4, 4 [Optmn D= 1{}404]

Correct Answer :
o 1 [Option ID = 10401]

19) A man travels in a car from point A to point B and covers a distance of 120 km. During the
first 40 km, the speed of his car 1s 50 knvhr and for the rest of journey the speed of his car 1s
60 km/hr, What is the average speed of his car from point A to point B?

(1) 55 km/hr (Z) 54.25 km/hr
(3) 56.25 km/hr (4) 58.25 kw/hr

wF Afaa g A g B % o9 120 fFamdie #i gl F1 8 T = 2| 9FR Tee 40 Framis % 2RE
ﬁmﬁv&t%ﬁ%ﬁtﬁauﬁm?ﬂﬁxmgﬁmﬁﬁﬂﬁmﬁam d g AW Rg B o=

IR I hi 3TEa T F4r A7
(1) 55 ERHALER (2) 54.25 B4 /2=
(8)  56.25.Hi./ga (4) 58.25 f56.41. /a2

[Question ID = 2602][Question Description = Q24_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Optien ID = 10405]
2. 2 [Option ID = 10406]
3. 3 [Option ID = 10407]
4, 4 [Option ID = 1{}408]

Eorrect hnswer
e 1 [Option ID = 10405]

28] In the series
1, 30630,
What 1s the next term?
I 12 2 15
3 18 (4 20
156,10 coovecs % F T TS o7% 2FT
(1 12 (2) 15
(3) 18 4 20

[Question ID = 2603][Question Description = Q25_GP_24N0OV_51_SHAAN_Shift1]
1. 1 [Option ID = 10409%]
2. 2 [Option ID = 10410]

e ] = PN bl e Iy AN aqg 4N
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Your Personal Exams Guide



wWww.prepp.in

| 4. 4 [Option ID = 10412]

Carrect Answer ;-
& 1 [Option ID = 10409]

Which of the following options are true regarding inference with reference to classical Indian

system of logic?

(A) It is deductive

(B) It is inductive

(C) It has to be formally valid

(D) It has to be materially true

Choose the correct answer from the options given below :
(1)  (A), (B) and (D) only (2) (&), (B) and (C) only
(3)  (A), (C) and (D) only 4 &), B), (C) and (D) only

T A O A g $ AER A B Ty 1 efriad faehedl § d i ueT 27

A)
®)

(©)
D)

=
e
(3)

77 A 2 |
7 FANTHAH 2 |
T4 ST B9 ¥ 9% T 9T |
T4 TERF T @ HeA BAT TR |
fiu e fowem § o TEl SO% F 99 S
a4 (A), (B) ¥R (D) @ FIA (A), B) 3R (C)
Fad (A). (C) 31 (D) @ A, ®B). (©) 3R D)

[Question ID = 2604][Question Description = Q26_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Optien ID = 10413]
2. 2 [Option ID = 10414]
3. 3 [Option ID = 10415]

4. 4 [Option ID = 10416]

Correct Answer ;-

e 1 [Option ID = 10413]

The collection of all the objects to which a term may correctly be apphed 1s called :

(A) The intension of that term
(B) Connotation of that term
(C) The extension of that term
(D) Denotation of that term

Choose the correct answer from the options given below :
(D (A)and (B) only (2) (B) and (C) only
(3)  (A)and (D) only (4) (C) and (D) only

9 @i} a1 e fwes fon o 12 w0 @ =9 4 = R S dar 2, Faen B

(A)
B
©
D)

prepp
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= 160 TE Td<hedl H H Hel 3L 0l IF94 I -
(1) ad (A) IR (B) 2) HFa (B) 2 (C)
()  FaA (A) (D) (4 I (C) 3T (D)

[Question ID = 2605][Question Description = Q27_GP_24N0OV_51_SHAAN_Shift1]
1 [Option ID = 10417]

2. 2 [Option ID = 10418]

3. 3 [Option ID = 10419]

4, 4 [Dptmn ID = 1(}420]

Correct Answer :
& 1 [Option ID = 10417]

*The Daily News carried an article this morning about some local teenagers who were
arrested on charges of drug possession. Teenagers these days are nothing but a bunch of

junkies”.

Which fallacy is committed in the above statement?
(1) Red Herring

(2) Strawman

(3) Argument against the person (ad hominem)

(4) Hasty Generalization

éﬁmwﬁqum@amﬁmwwﬁaﬁwﬁnmmrﬁémﬁwqﬁwq
TRRaT 6 71 o | STTorhel % FRU TR F3 T8 i s & S 3| ST FYA 5 FiF O Fcaryd 27

(1) s

@ winE

(3) =A% = foeg @b (Vg @ifm)
(4) ity g

[Question ID = 2606][Question Description = Q28_GP_24N0OV_S51_SHAAN_Shift1]
1 [Option ID = 10421]

2. 2 [Option ID = 10422]

3, 3 [Option ID = 10423]

4. 4 [Option ID = 1(}424]

'Currect ﬂnswer
@ 1 [Option ID = 10421]

Given below are two statements : One 1s labelled as Assertion (A) and the other is labelled as
Reason (R) :

Assertion (A): The Naiyayikas did not give separate treatment of the inductive methods,

as the western logicians have done.

Reasons (R) : According to Nyava school universal propostions are obtained from

perception itself by one of the forms of extra-ordinary perception.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A)
3) (A) 1s true but (R) 1s false

(@)  (A)is false but (R) is true

= 3w fou e 2 v aIfieruE (Assertion A) % T W fafiga 2 A1 WU IWH FRU (Reason R) %

Eqﬁ
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STHHE (A) : TATEH A SIFTHACHS JUTel 1 9 A4al Tel g1 & S 56 e=cd 6 el |
T 2
+107 (R) : = W h IEER e gfomicat s gt § 3 o gerefiEr Bt o
T =t ST 2

IR FIF H Ao 8, A= & o e 8 F 78 9w = il

D)
@
3
(4)

(A) 3R (R) FFT 97 2 TR (R), (A) F T2 =ame 2|
(A) 2R (R) 2 oo 2 A6 (R). (A) 1 T8l sarem T8 2
(A) TeT 2 afe (R) 10T 2 |

(A) 3197 2 Al (R) 93 21

[Question ID = 2607][Question Description = Q29_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Optien ID = 10425]
2. 2 [Optien ID = 10426]
3. 3 [Option ID = 10427]
4. 4 [Option ID = 10428]

Correct Answer ;-
e 1 [Option ID = 10425]

Given below are two statements :

Statement I: Sesavata is the inference of what remains (sesa) by ehmination of the
irrelevant.

Statement II: Sesavata inference corresponds to the method of residues in western
induective logic.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement II are false

(3) Statement I is true but Statement IT 1s false

(4) Statement I 1s false but Statement II 1s true

9 g R e e E

FUF () :  9aEd, STIEEE o R @ S s @ Sue IAE # |

Fo () : T ST TIWAe STPTHATCRS Thared ° 21w i Joretl ¥ o @ 2 |

I HYE % AT §, 9 f2u 1o fawert 4 3w s9 @ ==a At

(1
@
(3
(4)

FaF IR I3 9 2 |
e I3 2 s19e9 & |

# [ oea 2, A a7 I 31907 2|

TR 1 9 2, A T L8 2 |

[Question ID = 2608][Question Description = Q30_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10429]
2. 2 [Option ID = 10430
3. 3 [Option ID = 10431)
4, 4 [Option ID = 10432)

prepp
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| Correct Answer :-
e 1 [Option ID = 10429]

26
) When a computer 1s switched on, the BIOS 1s loaded from :
(1) Hard Disk (2) RAM
(3) ROM (4) CD-ROM

s Tl Broget hi e st T stran 2 @ BIOS feriifiaa & o foma <tie b wman 27

1 zE e 2 I
(3) i (4) H=E-Tm

[Question ID = 2609][Question Description = Q31_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10433]

2. 2 [Option ID = 10434]

3. 3 [Option ID = 10435]

4. 4 [Option ID = 10436]

Correct Answer ;-

e 1 [Option ID = 10433]

Identify the correct order of the following computer storage capacities ranked from largest to

smallest capacity.

(A) 100 GBytes

(B) 10000 000 000 Bytes
(C) 1 TBytes

(D) 1000 000 KBytes

Choose the correct answer from the options given below :
@ ©).A). D), B @ (©). @A), B). D)

3 (A.O). D). B @ A ©0.B.D

Tt Foet RS Harell il TeE AT W Te| FH A F el w0 § Faiad it |
@A) 1007w sz

@) 10000 000 000 =Nz

€) 1xamR

(D) 1000 000 frer =2

3 fou o forveml § o TE SOR W1 99 it

1) (€. Q). D), DB 2 ©).A),B). D

@ A ©O. D), B @ @. O, ®). D)
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[Question ID = 2610][Question Description = Q32_GP_24NOV_51_SHAAN_Shift1]
1. 1 [Option ID = 10437]
2. 2 [Option ID = 10438]
3, 3 [Option ID = 10439]
4, 4 [Option ID = 10440]

Correct Answer ;-
a 1 [Option ID = 10437]

Given below are two statements:

Statement I: Search Engines are websites that help a user to search for information on

WWW.

Statement II : For any search term, Search Engines provide the exact same results to all

the users.

In the light of the above statements, choose the corrrect answer from the options given

below:

(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement IT are false
(3) Statement I 1s true but Statement II 1s false

(4) Statement I is false but Statement II 1s true
=t <t =y few e 2

Fom () : T 9 dwEEe & S SEEar B WWW O I O #3195 a7 2 |

Fo (ID) : el ==t 29 o foru, @t S oot weimarstt = feresper wva afomm 2 2

IWITH HYF B ATA T, A= 19U T8 faemedi 0 A "Rl IaL o 9E i

(1)  =u IR I3 99 2 |
(2)  # I3R I a1 o5 3 |
(3) w1 9A 2, o 5y 11 35T 2 |

(4) U I 3AHcH &, AT a9 11 wea 2|

[Question ID = 2611][Question Description = Q33_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10441]
2. 2 [Option ID = 10442]
3. 3 [Option ID = 10443]
4. 4 [Option ID = 10444)

Carrect Answer ;-

» 1 [Option ID = 10441]

With respect to computers, which of the following are random access storage devices?

(A) Magnetic Tape
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(B) Hard Disk
(C)  Pen Drive

(D) CDROM

Choose the correct answer from the options given below :
() (&), (B)and (C) enly 2 (). (C), and (D) only
(3) (B, (C) and (D) only 4) (A). (B) and (D) only
FOLR * gae § Fretifad § @ FR-0 T vty @i e 27
(A) HWEfEE 2
® =E =
(€ wgrEA

O HHawam

= 3 7o faeed] § © TR ST 1 9 i

(1) Fa94 (A), B) 3R (C) 2) A (A). (C) R (D)

3 e (B), (C) 3t (D) @ e (A), (B) R D)

[Question ID = 2612][Question Description = Q34_GP_Z4NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10445]
2. 2 [Option ID = 10446]
3. 3 [Option ID = 10447]
4. 4 [Option ID = 10448]

Carrect Answer ;-
» 1 [Option ID = 10445]

30
) Match List I with Last 11
List I List I
Computer Terms Description

(A) Magnetic Tape () Used in digital cameras photo printers
and cell phones

(B) Memory Card (I) Uses laser beam technology to read or
write data

(C) Hard Disk (IIT) Used for data archival purposes but
must be accessed sequentially

(DY DVD (IV) A set of metal disks mounted on a
spindle

Choose the correct answer from the options given below :

1) A-dm, B)-O. (6)-1V), (D)-ID)
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N S SAASTLEY o VAIFTIA WTRLELY, VA FTIALY

3  A-Am), B-Av), (O-O. M)-dD
(49 (A)-D). B)-1ID, (C)-@), (D)-(IV)

Qﬁ-l%mﬂqﬁ-ﬂﬂﬁﬁﬁ?ﬁrﬁ:
-1 i1

(A) BFRS 20 O fefea &mr, w0 B ok o9 wF °
IR BT 2 |

®) T FE D == W e W o % o T «fm
SaIT AT T 2

(C) 7 = (A1) TET Tehigael TASE o 99 el & o
T AETTH BY W FAHER TaEd FE
TR |

(D) fawzma s AV) Terser o war sHaT feehl =1 ag==pT

I 22 o fme 9 O o8 s W T Hifw

(D (A)-A1ID). B)-(D). (C)-IV), (D)-AD
2) (&)-Iv), B)-M, (C)-d1I). (D)-AD
3 (A)-A1D). B)-(IV). (C)-(D). (D)-AD)
(4) (A)-dD, (B)-(ID), (C)-D), (D)-(IV)

[Question ID = 2613][Question Description = Q35_GP_24NOV_S1_SHAAN_Shift1]

1. 1 [Option ID = 10449]

2. 2 [Option ID = 10450]

3. 3 [Option ID = 10451]

4. 4 [Option ID = 10452]

B e e
e 1 [Option ID = 10449]

What will be the resultant of two noise levels of 81 dB and 90 dB generated by two
independent sources?

1) ~96dB 2) ~91dB
(3) ~98dB (9 ~118dB

T wIoA Wil ¥ ghom 81 it 31K 90 SHIES A TR W1 THOmH F41 507 7

(1) ~956dB (2) ~91dB
(3) ~98dB 4y ~1184dB

[Question ID = 2614][Question Description = Q36_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10453]
2. 2 [Option ID = 10454]
3. 3 [Option ID = 10455]
4. 4 [Option ID = 10456]

Carrect Answer ;-
& 1 [Option ID = 10453]

32)  Match List I with List II
List I List IT
(A) Kyoto Protocol (I) (Clean and Affordable Energy
(B) Montreal Protocol (II) Clean Development Mechanism
(C) Paris Agreement (III} Nationally Determined Contribution

(D) International Solar Alliance (IV) Phase out of chlorinated compounds
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L-hoose thie COrrect answer Iroin the options given below |

(D  @-abh. (B)-AV), (O)-d1D), D)-OD
2 @-@. ®)-1ID), (O)-IV), (D)-ID
3  A-aD. B)-(IV), (O)-D). (D)-AID
49  A)-dD, B)-AV), (C)-(D. D)-dAD

-1 % Ty -1 =7 e i
-1 et-11
(A) TR TR O =3 IR g T
B) A HerH an s G @
(C) ufw wwzitan (D) = =0 & Rl 9mem
D) FahgE R Fe AV) FAiFd At i =wEg g

A= 763 1o fempeat # @ Ui s = ==A hifeg

1) @-aD. B)-IV), (O-1D, M)-O
@  @&)-D, B)-dID. (C)-0V), (D)-AD
3  W-ADn, B-IV), O)-O), (D)-(I1ID)
@  @-aID. B)-IV). (O-@). (D)-AD

[Question ID = 2615][Question Description = Q37_GP_24N0V_S1_SHAAN_Shift1]
1. 1 [Optien ID = 10457]

2. 2 [Option ID = 10458]

3. 3 [Option ID = 10459]

4. 4 [Option ID = 10460]

Correct Answer ;-

e 1 [Option ID = 10457]

Given below are two statements:

Statement I: Solar flat plat collectors essentially work on the principle of Green
House Effect.

Statement IT : Black absorber plat radiates infrared radiations.

In the light of the above statements, choose the corrrect answer from the options given

below:

(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement II are false
(3) Statement I 15 true but Statement II 1s false

(4) Statement I is false but Statement II 1s true
= f[ el '%Q Rl L4 % :

F (D) : TR THaE wie TES TFesd T4 F Hoh W 5 54 90 2

FU (ID) : =19 TSABR wie 8 S90S T et 2 |

ITUTE FYT F A 1, A" o T fawew § O A 3w F 99a Hifw
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(1) #EIARIIgA a3 3§ |
(2) e IR IIgH Tod 2
(3)  w¥H Igca 2, <ifepd e 11 o 2 |

(4) w7 I ¥9eg 2, e =em [T o 2 |

[Question ID = 2616][Question Description = Q38_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10461]
2. 2 [Option ID = 10462]
3. 3 [Option ID = 10463]
4. 4 [Option ID = 10464]

Carrect Answer ;-
& 1 [Option ID = 10461]

Identify the correct sequence in decreasing order of percentage of total world’s water in the
followng locations ;

(A) Aimosphere

(B) Rivers and streams
(C) Ground water

(D) Lakes (Fresh water)

(E)  Ice caps and Glaciers

Choose the correct answer from the options given below :
1) (E).©).B), D). & 2 (E), B), ©). D), &)
3) (E).®O),(©C).B), "W @ (€, (O, D), &), B)
fava & o vt viawa =i Feifea T 6 2 O orriE s d saftaa fife
@) s
B) A i seamd
© =

(D)  sfre (arsm o)
® i ok fimme

= fau 7o foereal § @ T91 TR ® 99 it

@ E). ©.B. D.A) @ (E). (B). (C), D), (A)
@ ®.D.O,. 6.4 @ E). Q). D). A\.®

[Question ID = 2617][Question Description = Q39_GP_24N0V_S1_SHAAN_Shift1]
1. 1 [Option ID = 10465]

2. 2 [Option ID = 10466]

3. 3 [Option ID = 10467]

4, 4 [Option ID = 10468]

Correct Answer :-

e 1 [Option ID = 10465]

By the year 2030. Sustainable Development Goal 7 aims at enhancing the global rate of
improvement in energy efficiency by a factor of

(I) Two (2) Three
(3)  Four (4) Five
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T4 2030 TH, FATAA Fm@ TeA-7 F1 LA Hoigqdl i dfah & 4 o o i gig FE Y7

-

1 = (2)

@ IR (4) =
[Question ID = 2618][Question Description = Q40_GP_24NOV_51_SHAAN_Shift1]
1 [Option ID = 10469]
2 [Option ID = 10470]

[Option ID = 10471]

1.
2.
3.
4. 4 [Option ID = 10472

3

4
Correct Answer :-

e 1 [Option ID = 10469]

According to NEP-20 the primary activities of the NRF will be to
(A)  Fund competitive peer reviewed grant proposals of all types across all disciplines.
(B) Open new institutions of research and innovation.

(C)  Act as a liason between researchers and relevant branches of government as well as

industry.

(D)  Include research in curriculum at school level.

Choose the most appropriate answer from the options given below :
(1)  (A)and (B) only (2) (A)and (C) only

(3)  (B)and (C) only (4) (C) and (D) only
i fove Aifd-20 = IFUR w1, 2M.TE. Fi mufes aREREt el -

(4) et gafitn g gaiyE sope-Fif2 % s # @ odfi R $ e @ g B, G

TR YEA F |
(B) ™ I TN % A GEAET Y FATIHAT AT |
(C)  TNuaisl 2R Tag TR TN 37 32 % o= %) % 9 5 & 5 |

D) TFA T R IZHHA | AT B WA HEA |

e fau T fampeut ¥ W Ter IvE T A 9 HIfAT -
(1) 9 (A) 3R (B) (2) FaE (A) 3R (C)

(3) =aw (B) IR (C) @ Fa (C) (D)

[Question ID = 2619][Question Description = Q41_GP_24NOV_51_SHAAN_Shift1]
1. 1 [Option ID = 10473]
2. 2 [Option ID = 10474]
3. 3 [Option ID = 10475]
4. 4 [Option ID = 10476)

Carrect Answer ;-
s 1 [Option ID = 10473]
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37
) Identify from the following those values which are called “Sattvika Values”

(A) Compassion

(B) Jealousy
(C) Respect

(D)  Falsehood

Choose the most appropriate answer from the options given below :
(1) (A) and (B) only (2) (B) and (C) only

(3) (C) and (D) only (4) (A) and (O) only

Frefatta 7 @ 57 geat il wwem Hite 57 mices e, fi o d o g

A
® =
(C) @

D)  FEcEa

= fom o el o W T ST SR B T T

(1) =3 (A) 3R (B) (2) %A (B) 311 (C)
(3) A (C) 3 (D) (@) Fa (A) S (C)

[Question ID = 2620][Question Description = Q42_GP_24NOV_51_SHAAN_Shift1]
1. 1 [Option ID = 10477]
2. 2 [Option ID = 10478]
3. 3 [Option ID = 10479]
4, 4 [Option ID = 10480]

Correct Answer ;-
a 1 [Option 1D = 10477]

38) According to NEP-20 Secondary Education Comprises of classes
(1) VIII-X 2 X-XII
@ IX-X @) IX-XI

7% Foram +fifer = srraw areafes fen § Fefela e e 2 -

(1) VII-X (2 X-XI
@ IX-X 4 IX-XI

[Question ID = 2621][Question Description = Q43_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10481]
2. 2 [Option ID = 10482
3. 3 [Option ID = 10483]
4. 4 [Option ID = 10484
Correct Answer ;-
e 1 [Option ID = 10481]

Prakrit languages have similarities and differences with Sanskmt in many ways,
Prakrit languages when formalized for literary use their variation from conventional vedic

languages was
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(1) Pali (2) Ardhamagadh

(3) Apabhramsha (4 Hindi

A T T WEhd $ WY 9gd ¥ T W A R et 2| aeRa umn sm wtefemr wmm S o
gFag i T 79 fom TRuieE dfem a w seeh fima o, 9 o -

(1) (2) gl
(8)  mwm @ ==

[Question ID = 2622][Question Description = Q44_GP_24NOVY_S1_SHAAN_Shift1]
1. 1 [Option ID = 10485]

2. 2 [Option ID = 10486]

3. 3 [Option ID = 10487]

4. 4 [Option ID = 10488]

Carrect Answer :-

e 1 [Option ID = 10485]

40) As a result of Wood's Despatch, which of the following Universities were established in 18577
(1) Calcutta, Bombay and Madras
(2) Bombay, Madras and Delhi
(3) Delhi. Bombay and Calcutta
(4) Madras, Calcutta and Delhi
T2 % G % siemeaey, fetatga § 9 F g fayatraes $ wren @ 1867 ° 580

(1) T, S5E IR 9E
) g, "gE et feeed

@) oo, sveg I Ferw

(4) g, wom ot foeeh

[Question ID = 2623][Question Description = Q45_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10489]

2. 2 [Option ID = 10490]

3. 3 [Option ID = 10491]

4. 4 [Option ID = 10492]

Carrect Answer :-

e 1 [Option ID = 10489]

Topic:- 03rd_Set7_C

) Read the passage carefully and answer the question that follow
The need for continuing and reinforcing value oriented curriculum at the post graduate level
and level of professional studies may be considered even more important. Most of the
students trained at these levels are likely to become leaders of business and industry,
technocrats, leaders of thought, teachers and educationists, research workers, professionals,
political leaders and social workers etc. besides playing their normal roles as citizens and
family members like all other people. It appears that most of them at the time of leaving the
college after 3-6 years of study, may have a poor 1dea of the values of freedon and human
dignity, the value of food, security and health care for millions of poor and disadvantaged
people, the importance of correct public policies for managing societies and solving several
nroblems. the importance of prover human relations and personal life stvles. ete. A good
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numoer oI them, NOWEeVer are NOw getiing OppPOrtunities T0 acquire MOQern SClentiilc and
technical knowledge of high standards particularly in some of our institutions of excellence,
comparable to the best institutions in the developed countries. But the problem of
imadequate access to this kind of modern knowledge for the poor and disadvantaged groups
1n our soclety constitutes a serious social and moral i1ssue.

Curricular reform and reconstruction on proper lines should be the active concern of
educationists and educational planners, because as pointed out in national policy document
1986, it can be a forceful tool for the cultivation of social and moral values. In our culturally
plural societies education should foster universal and eternal values, oriented towards the
unity and integration of our people. Such value education should eliminate obscurantism

religious fanaticism, violence superstition and fatalism.

In higher education, in the context of promoting strong value orientation, which of the
following statement holds frue?

(1) Provide opportunities to students to acquire scientific knowledge of high standards.
(2) A Policy for development of values may be prepared.
(3) Offer courses related to inter disciplinary contemporary socio-economic problems.

(4) The universities should aim to enrich technological dimensions.

T R SIHE ¢ AR T T Wl % ST

TR ST FHa 15999 3 TR W PR ST TRiei i Jod S1 9 a0 MSTaa =i STTaeashal =i 371
o} srters aEeqol SHET ST EEdT B | 59 S W i 9 e sifue: fernedf sau we e & s,
WA T T e w5 o g el ST B wEe aReR % uee B gu, ° B4 3| v
gdtd 2 o o0 o siftrehat 3 | 6 adl % A9 b SR Helloalerd 9Iedn + GHT deadl S qEe
U ¥F Yo, Al e AR gsratad S o uieE, e o TR @Y F e, T9 TaRE IR
TR IOl g Tt AT ATl = Fetd ad1 SUge Hea Beaed 3R sataa Sita diell e
el 1 g0 [oaR TEd B @hd & | 30 U SpHeTs (aehitd cul 8 Sas8 e % gnged fagie ean
[T IpY TLAH H I F INIFE A7 33 qHeiih T U e =R GIIGE U1 T 2 | Tk gER
T AT ve glao-ataa g F ™Y 5@ TR W SNges T T B A ST uge A
v TR Al o 3o Tme =1 utea e 2

TERT GUR W 3 stEa {0 § wtem, e v Ren-asm-Feiwen & o e o
= =tee. s S 2 e fifa e 1986 @ Tew # 3tE fem o o 2 T T awiers ofit AR
qedl % Headd % o v wued U § FaT 2 | TR Uiehlos ©9 W age aare | f@er A g e

= e % g qog silmEiem % Wicwrsd o YW o geed ¥ Ffafes § o w9 % we €7

(1) == T il S qE-Tia 3 R = e STesy e |

2  we % o % foe o Aifa daw i s R 2 |

(3) At aeEmtEs amEE- il avenat @ aia TETEe H ueH |
@  Tovatem = T S R g S B AEiE e e |

[Question ID = 2624][Question Description = Q46_GP_24N0OV_S51_SHAAN_Shift1]
1. 1 [Option ID = 10493]
2. 2 [Option ID = 10494]
3. 3 [Option ID = 10495]
4, 4 [Option ID = 104%6]

Correct Answer :-

a 1 [Option ID = 10493]

Z)

Read the passage carefully and answer the question that follow

The need for continuing and reinforcing value oriented curriculum at the post graduate level
and level of professional studies may be considered even more important. Most of the
students trained at these levels are likely to become leaders of business and industry,
rarhnocrate laadere of thetiocht teaschere and ediicationicte recearrh workere nrnfeccinrale
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political leaders and social workers etc. besides playing themnr normal roles as cifizens and
family members like all other people. It appears that most of them at the time of leaving the
college after 3-6 yvears of study, may have a poor 1dea of the values of freedon and human
dignity, the value of food, security and health care for millions of poor and disadvantaged
people, the 1mportance of correct public policies for managing societies and solving several
problems, the importance of proper human relations and personal life styles, etc. A good
number of them, however are now getting opportunities to acquire modern scientific and
technical knowledge of high standards particularly in some of our institutions of excellence,
comparable to the best institutions in the developed countries. But the problem of
inadequate access to this kind of modern knowledge for the poor and disadvantaged groups
1n our soclety constitutes a serious social and moral i1ssue.

Curricular reform and reconstruction on proper lines should be the active concern of
educationists and educational planners, because as pointed out in national policy document
1986, it can be a forceful tool for the cultivation of social and moral values. In our culturally
plural societies education should foster universal and eternal values, oriented towards the
unity and integration of our people. Such value education should eliminate obscurantism
religious fanaticism. violence superstition and fatalism.

The higher education system as of now emphasizes on
(L
(3

Utilitarian values (2) Human values

Social and Polhitical values (4) Spiritual values

T Y e ¢ AR T Tyl % s T

TR ST FHat 15999 3 TR W PRl S TRicihd Jod ST e MSaed i STTaeashal =i 3T
o} srterr aEeerqol ERET ST ST B | 59 S W g 9w siaeeg: fernedf saw we a6 s,
T WETE T W1 P w3 o g Teft T % @E 9RER o UeE B gU, 5 WEd § | U
Tdia 2 15 398 o s1ftat 3 9 6 a9 & oYHEd % S HeileEad UNeAT ¥ 96T el i 99
G % qed, Al Wiel iR glasmatad A o uieE, e o TR @y F god, T9 TeeE S
T Ol g TEt AP ATl = Hetd ad1 SUged Hed Beed 3R sataa Sitad Siel e
oA, BT g [oar T@d B @hd 2 | ST O SEEeTh [aeeihd oml 8 FasE STl % geged AT T
[T IcpY TLAH H Il o IH® A7 37 qHiih T I e =R GIEEE UT T 2 | ik guR
o el ve glao-ataa aE F ™Y 5@ TR W SNy T T B R ST uge i aee
v iR wteE siv Afas wwen w1 gufen w3

TeFRT GUR W I st {0 § wtm, fentet v e -asm-Feiwen & o B o e
ZF AR I S 5 e i e 1986 ° TEe 3 sfeE e s g 2 wm wmies st A
gedl % HadH % oy ush wuem Iusn B waT 3 | 9K HiEhfa® &9 U age aars 8 fien A g we

ST 30 e o= fee @ S s 27

(1)  STEFEEE-Ie 2) FFE-geA
(8)  TWIfsF vd YSAH god (4) smentars gea

[Question ID = 2625][Question Description = Q47_GP_24N0VY_S51_SHAAN_Shift1]
1. 1 [Option ID = 10497]

2. 2 [Option ID = 10498
3. 3 [Option ID = 10499
4. 4 [Option ID = 10500]

Correct Answer ;-
e 1 [Option ID = 104%7]

Read the passage carefully and answer the question that follow

The need for continuing and reinforcing value oriented curriculum at the post graduate level
and level of professional studies may be considered even more important. Most of the
students trained at these levels are likely to become leaders of business and industry,
technocrats, leaders of thought, teachers and educationists, research workers, professionals,
nolitical leaders and =acial workere ete bezides nlavinge their normal roles as citizens and
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Iamily membpers liKe all other people. 1t appears that most of them at the time ol leaving the
college after 3-6 years of study, may have a poor idea of the values of freedon and human
dignity, the value of food, security and health care for millions of poor and disadvantaged
people, the importance of correct public policies for managing societies and solving several
problems, the importance of proper human relations and personal life styles, etc. A good
number of them, however are now getting opportunities to acquire modern scientific and
technical knowledge of high standards particularly in some of our institutions of excellence,
comparable to the best institutions in the developed countries. But the problem of
madequate access to this kind of modern knowledge for the poor and disadvantaged groups
In our society constitutes a serious social and moral i1ssue.

Curmcular reform and reconstruction on proper lines should be the active concern of
educationists and educational planners, because as pointed out 1n national policy document
1986, it can be a forceful tool for the cultivation of social and moral values. In our culturally
plural societies education should foster universal and eternal values, oriented towards the
unity and integration of our people. Such value education should eliminate obscurantism
religious fanaticism. violence superstition and fatalism.

Value oriented curriculum at professional studies level 1s important

(1)
(2)
(3)
€Y

To propagate the values Further
To have a ghmpse of the issues of the poor and disadvantaged
To balance other pedagogy. related deficiencies

To train students as efficient resource agents

T R e UG AR T T Wt % s S

TR ST FHat 1599F 3 TR W PRl S TRieiihd Jod ST a0 MSTsa il SATaeashal =i 371
o} aterr geeyel @HET A1 GEal R | 59 T 9 SR 9 aies st et s ug sEi & s,
ATH T T F FEE R 3T o g Tl ST % WEE TR % UeT BN gY, 9 OFRd B | U
gdtd 2 T o0 o siftrehat 3 | 6 adl b 1T b SR Hellaaled 9T * GHT ideadl S 2
A % qed, Al Wie AR glasmatad A o wieE, e o TR T@aRT # Iod, T9 TeRE S
TN % IOl g Tt AT ATl =1 Fawd aU1 U Aed Beeed 3R st Sitee Sl 1 wae
SeATE, BT g [oaR T@d B @hd £ | ST § SgEeTh [aehibd oWl 8 Fa28 HeEl % geged Al B
T 3cpd GEAH H ITIA o IS AP 3 qEiih T I o =R GIIEEE UT T 2 | ik gER
g ° el ve glao-ataa g % Y 5@ TR W Sy T T B R ST Uge i aee
v TR Al o 3o Tme =1 gutea e B

TeART GUR W I 3tEa {0 § e, fentet v e -asn-Feiwen & o B e e
= =teT, i SEn R e fifd e 1986 1 = ¥ 3kE e o g 3 6 W it afit A
gedl % Hadd % oy v wue Iu B FEaT 3 | F9R HiEhfa® &9 U age aars 8 fie A g we

YT SEAE TR YA ST TEAHE Wawgy &

(1)  Foai = 3R Afes 30 y=iia 6 % o

2y T o glaaataar 6 aremed % o F o

(3)  Then =me § wesifE 379 S1qulan 1 Gegfera A % ferg

(4) iRl = e WS T % B9 A GRiGd 7 % e

[Question ID = 2626][Question Description = Q48_GP_24NOV_51_SHAAN_Shift1]

1. 1 [Option ID = 10501]
2. 2 [Option ID = 10502]
3. 3 [Option ID = 10503]
4. 4 [Option ID = 10504]

Correct Answer ;-
e 1 [Option ID = 10501]

Read the passage carefully and answer the question that follow

The need for continuing and reinforcing value oriented curriculum at the post graduate level

and level of professional studies may be considered even more important. Most of the
atnidente trained at theeae levele are l1lalv fn bharaime lagdere of Bhuicinece and 1nmdiietyr
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technocrats, leaders of thought, teachers and educationists, research workers, professionals,
political leaders and social workers etc. besides playing their normal roles as citizens and
family members like all other people. It appears that most of them at the time of leaving the
college after 3-6 years of study, may have a poor 1dea of the values of freedon and human
dignity, the value of food, security and health care for millions of poor and disadvantaged
people, the importance of correct public policies for managing societies and solving several
problems, the importance of proper human relations and personal life styles, etc. A good
number of them, however are now getting opportunities to acquire modern scientific and
technical knowledge of high standards particularly in some of our institutions of excellence,
comparable to the best institutions in the developed countries. But the problem of
inadequate access to this kind of modern knowledge for the poor and disadvantaged groups
In our soclety constitutes a serious social and moral issue.

Curricular reform and reconstruction on proper lines should be the active concern of
educationists and educational planners. because as pointed out in national policy document
1986, it can be a forceful tool for the cultivation of social and moral values. In our culturally
plural societies education should foster universal and eternal values, oriented towards the
unity and integration of our people. Such value education should eliminate obscurantism
religious fanaticism. violence superstition and fatalism.

The most suitable Caption for the passage may be :

(1)
2)
(3)
4

Enforcing values 1n education
Importance of values
Value implementation

Value basis for tertiary education and society

TET i ST UG S ST e gyl b s E

TR ST Fat 15999 3 T W Rl S TRl Jod ST a0 MSTaa i STTaeahal =i 371
o} srfers aEeegol SRET ST EEdT R | 59 W W e 9 e sitasee: Tt sa we e & s,
T W Y @ Fag i 30 o g ot o % weW 9RER % e B gE, o9 T 3 | O
gdia 2 5% 398 o s1itrat 3 9 6 a6 & o1Y9Ed % SU=d HeEileEed UNeAT % 9HT Saedl S 99
A % Yed, Al Wiel AR glasmatad A o uieE, g iR TR @y F Iod, TEe TeR 3
TR IOl g Tat AP ATl =1 Fetd 991 SUge Hea Geed 3R satad Sita Sel e
SCATE, BT g [oar T@d B @hd £ | 59 O SEEeTh (il oml 8 HasE HeEl % geged AT B
I I TEAH U IR o INGHF Sqe AR Gl T I 7 GoTaat T T 2 | SR g
T 4 FieAl v glaer-ataa 9E & ™Y 59 TR W ey TF 9T B Fl S uge 6 e
v TR A s 3o Tme w1 wuted e 2

TR GUR W I stEm {0 § wte, fentet v e -asm-Feiwen & o e e e
= =tEe. s S R e fifa e 1986 @ Tew # 3tE fem o g 2 6 ww awiers ofit AR
Uedl % Haed % [0 U wued Iuhwl 3 Sl 2 | BAN Hiehion &9 U age a0 {3 A gun el

e % e, watagad side 2 el 2
(1) e o geat = giRfeag s
@ e W e

(3)  WEE W FEEEH

@ e fen v wEe Bg gew anew

[Question ID = 2627][Question Description = Q49_GP_24N0V_S1_SHAAN_Shift1]

1. 1 [Option ID = 10505]
2. 2 [Option ID = 10506
3. 3 [Option ID = 10507
4, 4 [Option ID = 10508]

Correct Answer *-
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| 1 [Option ID = 10505]

Read the passage carefully and answer the question that follow

The need for continuing and reinforcing value oriented curriculum at the post graduate level
and level of professional studies may be considered even more important. Most of the
students trained at these levels are likely to become leaders of business and industry,
technocrats, leaders of thought, teachers and educationmists, research workers, professionals,
political leaders and social workers etc. besides playing thelr normal roles as citizens and
family members like all other people. It appears that most of them at the time of leaving the
college after 3-6 years of study, may have a poor 1dea of the values of freedon and human
dignity, the value of food, security and health care for millions of poor and disadvantaged
people, the importance of correct public policies for managing societies and solving several
problems, the importance of proper human relations and personal life styles, etc. A good
number of them, however are now getting opportunities to acquire modern scientific and
technical knowledge of high standards particularly in some of our institutions of excellence,
comparable to the best institutions in the developed countries. But the problem of
mmadequate access to this kind of modern knowledge for the poor and disadvantaged groups
1n our soclety constitutes a serious social and moral 1ssue.

Curricular reform and reconstruction on proper lines should be the active concern of
educationists and educational planners, because as pointed out in national policy document
1986, it can be a forceful tool for the cultivation of social and moral values. In our culturally
plural societies education should foster universal and eternal values, oriented towards the
unity and integration of our people. Such value education should eliminate obscurantism
religious fanaticism. violence superstition and fatalism.

In order to cultivate values, the higher education system should concentrate on

1)
@
(3)
(4)

Plugging pedagogical deficiencies
Integrating technology

Integrating technology with pedagogy
Curricular reforms

T Y IHE UG HIR T T Wl % S T

TR ST FHat 1599F 3 T W FRRa] ST TRiei i Jod S1 9 e MSTed i STTaeashal =i 371
o} srters aEeqol SHET ST EEdT B | 59 S W T 9 e siftuse: fernelf sa we e & s,
AOE T e #1 FeEE W g o g woft i B aEm aiER % 5o B 3, o9 B 3 | T
gdtd 2 T o0 & siftrehat 3 | 6 adl % SIS b SR Helloalerd AT % GHT deadl S qEe
U F Yo, Al e AR gEsratad d o uieE, e o TR @Y F e, T9 TaRE 3R
TR IOl g Tt AT ATl = Fetd ag1 SUge Hea Beaed 3R sataa Sita diefl e
oA, BT g [oar T@d B @hd £ | ST O SEEeTh [aeeitd oml 8 Fass §EEl % geged faiedT BN
[ IpY TEAH H I F IIFE A7 33 qHeiih T U o =R GIIEE UT T 2 | ik gER
T AT ve glao-ataa ouE % ™Y 5@ TR W SNy T T B A ST uge g
v TR Al o 3o Tme =1 utea HE 2

TERT U W 3 stEa {0 ¥ wtm, fene v Ren-asm-Feiwen & o e o e
= =tee. s S R e fifa e 1986 @ Tew # 3tE fem o o 2 T T awiers ofit AR
qedl % Taed o {o10 U Wuigd TS F HhAT 2 | TR WiEhlas w9 U age aurel § fian s gen e

3= Toeqr = ! gedt o WA & fore o W aehfega e =iy ¢
(1) Trenm—wniEm stumEr = g weE

(2)  THATH AT

(8)  Toiem TIEx % WY T B AHTER

(4  UEEFAE-GEUR
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[Question ID = 2628][Question Description = Q50_GP_24N0OV_51_SHAAN_Shift1]
1. 1 [Option ID = 10509]
2. 2 [Option ID = 10510]
3. 3 [Option ID = 10511]
4. 4 [Option ID = 10512)

Carrect Answer ;-
& 1 [Option ID = 10509]

Topic:- Education_SH1_A

1) A researcher conducted a study to have initial idea of scope and magnitude of the problem under study and to test the
feasibility of more extensive research. Such a study is called:

oo enercpal ot s1errrer A warrn @ frra od af¥amer @F srer Rers @1 Qe @es © Rie aen s sarger siepienst B FwrRar & s wael
D o1 wo Jerra FafenT R 91 Yoo O 318RI6T Ot e &

[Question ID = 2929][Question Description = $1_qg5Nz_PG_EDU_Q01]

1. Explanatory study/=IE=Iris iR

[Option ID = 11713]
2. Confirmatory study/sdwr s

[Option ID = 11714]
3. Descriptive study/Raamras iRt

[Option ID = 11715]
4. Exploratory study/seehaomeaes raee

[Option ID = 11716]
Correct Answer :-
e Explanatory study/=Ie=Imams R

[Option ID = 11713]

2) An independent variable in an experimental study, which is manipulated by the investigator at his will, is technically
known as:

v YrRIBre el i v Favic 92, el sedus of sl 501 3 agod [een &, ®I adeildl WU 21 Siiell AR 2 |

[Question ID = 2930][Question Description = $1_g5Nz_PG_EDU_Q02]
1. Moderator variable /ufnsks o=

[Option ID = 11717]
2. Treatment variable/awnz =

[Option ID = 11718]
3. Interfering variable/=IFrerHt a2

[Option ID = 11719]
4, Confounding variable/smpe w2

[Option 1D = 11720]

Correct Answer ;-

* Moderator variable /uisaste oz
[Option ID = 11717]

3) If the distribution of scores obtained by a group of examinees on a test is skewed negatively, then which of the following
statements is false?

=i fepft uftgmr 3 udienf¥i & w9z g Qi 3wl o faew Fus U 3 spoieas fSenm d  faaw @1, A atafian d 3 oia a1 weer wdt
olal 87

[Question ID = 2931][Question Description = $1_qSNz_PG_EDU_Q03]

1. Most of the examinees crossed the passing cut-score of the test, /afirmisn wilenffl & oiten o arfivfr-Fe-3rr o we a2 Rro

[Option ID = 11721]
2. The average difficulty level of the test-items was low. foiignr-awE] o AfiowT- oo - 3ar T el

[Option ID = 11722]
3. The mean score of the examinees was more than the median score, fodtanfER &5 mfém- s 3 F0eT Mg ar

[Option ID = 11723]
4. The modal value was less than the mean, but more than median. /agerr A Aws A ©F &1 |, Cftvel AT I e 0

[Option ID = 11724]
Correct Answer -
* Most of the examinees crossed the passing cut-score of the test. /afimst witgnfEl & ofsn & sriivfar-Frz-aiw o1 we o537 forn

Mt ian I =99177911
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4) The 'case study’ method is mostly involved in which of the following qualitative research designs?
‘cafte azeRIa il feeatefian 3 21 aftrea: Rew spieas scparc-yreea # onfdm & ?

[Question ID = 2932][Question Description = $1_q5Nz_PG_EDU_Q04]
1. Phencmenological Design/Tcarmit qrea

[Option ID = 11725)
2. Ethnographical Design/sr=nfrm geeg

[Option ID = 11726]
3. Grounded Theory Design/gferndt Braia geua

[Option 1D = 11727]
4, Marrative Design/uoferrrr g

[Option ID = 11728]

Correct Answer :-

* Phenomenological Design/acarmitT q=a
[Option ID = 11725]

%) Which of the following statements defines the basic philosophy, theory, and practice of teaching children according to
critical pedagogy?

forgmleifian 3 31 @lal 1 ool Riaaencac- foerens & 2Ugee acdl @I Uskkl & 3 sela, Rrgia afiv gikom o ufsnfta orar & ?

[Question ID = 2933][Question Description = $1_qg5Nz_PG_EDU_QO05]
1. Emphasis on concepts like compassion, kind-heartedness and healthy dialogue to ensure children's wellbeing and social development. /el &t weng
3z AP T i oo © 0 o, o AR Taed-ian Siel armerenad e Sl don

[Option ID = 11729]
2. Questioning dominant beliefs or world views about knowledge and learning, and discover deeper meaning and root causes of the phenomena. f=m=r
Atz aifieE @ g d @RT-arsErma @ Reg o s Ten ue gt ween, dis aiiaeer @ esd sl S am ot Bt e o

[Option ID = 11730]
3. Accepting multicultural needs to create equally comfortable learning environment for all childern irrespective of cultural and social erigin/zizegkis
AT ARIHEE 3wl @ warm Fpdl fen sl it aal 3g sgaegiee smeereesi ©f 37 FU A SRS JEEE- Ukl Jo1e! 5] JIHeRndl B! FeR T

[Option ID = 11731]
4. Challenges traditional beliefs abhout knowledge, look for alternatives, and create knowledge through thoughts, experience and dialogue. /= & a3
urdafrs weeanal w7 geltddt 3 8, Resedi 5 aongl ovwn &, i frl, aegpee i sae & W 3 S0 w5 et S &

[Option ID = 11732]
Correct Answer :-
# Emphasis on concepts like compassion, kind-heartedness and healthy dialogue to ensure children's wellbeing and social development. /a=di &t swems

Atz ApnEEr Bror ghifd o o Be oo, g #e e aas St smemeonsd oz iz 8an
[Option ID = 11729]

6) An engineering company wants to recruit fresh graduates for its specific nature of work. The company decides to
conduct a selection test. What kind of test would be most appropriate for this purpose?

o AfirIkb wusl sraet [Rifdre goor @ ort © R sie et 6 skl won ascdt § sl o= wdten ariRR e @t Bk orft 2 5=
320u @ fere fipw ave o1 udleivn wE3 3UYTs P 7

[Question ID = 2934][Question Description = $1_qg5Nz_PG_EDU_Q06]
1. Mental Ability Test/amRre er@mm oigmr

[Option ID = 11733]
2. Achievement Test/3ueiter aitam

[Option ID = 11734]
3. Aptitude Test/afitamer ufiamr

[Option ID = 11735]
4, Personality Assessment/wftra sgriser

[Option ID = 11736]

& Mental Ability Test/mmBrr geen oigmm

[Option ID = 11733)

7) The Portfolio Assessment technique, as a part of pedagogical practices, is used for the purpose of evaluating students
and involves recording:

UICBIeRN-3Rboel adbelle, 9igiiiie Yl B oo HP1 & WU ¥, DKl © Jrlida @ o g &f it 2:
[Question ID = 2935][Question Description = $1_g5Nz_PG_EDU_QO07]
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| 1. Learning cutcomes after completion of a course. /s 3 2191 @ @lg e e

[Option ID = 11737]
2. Readiness for an impending competitive examination. /wp amaes gierdeit oo @ Be e e araem

[Option ID = 11738]
3. Laboratory work after the end of a semester. /vF =g @ sa & ae RiEEIcT F=

[Option ID = 11739]
4. Progress in learning and performance over a peried of time. /o 79 sl & affem  #i weola & wify

[Option ID = 11740]
Correct Answer :-
# |earning outcomes after completion of a course. /gy 21 851 & &15 JMRERT giemwe

[Option ID = 11737]

8) Flander’'s Interaction analysis technique used for analysis of teaching-learning situation in the classroom, as a feedback
mechanism, mainly takes into account:

wcisz & si:igEn fedhaur awelies @ 3u=ieT wagn # Rig-afta &1 e & firdtau & e fean e 8, oo gfagfte dq & = d, gz
wa # eaor 3 e 3

[Question ID = 2936][Question Description = $1_gqSNz_PG_EDU_Q08]
1. Non-verbal behavior of teacher and the students/Bisrr A= =nji o SizHikr =xER

[Option ID = 11741]
2. Only verbal behaviour of teacher in the classroom/ssn # fdams o1 oo Ailkas =ger

[Option ID = 11742]
3. Verbal behaviour of the teacher and students/ sy iz sril an Afkrrs vrer

[Option ID = 11743]
4. Both verbal and non-verbal behaviour of teacher and students/fsre iz =g @ Jifkrr Ak A+ adRnT dE! caeR

[Option 1D = 11744]

Correct Answer :-
e Non-verbal behavior of teacher and the students/farrr dn arjl w1 Siz-dlfinr =rER

[Option ID = 11741]

9) The system of objective analysis of written or spoken verbal communications is known as:
ferfia @ awo Al FHar @ axgines f[caur &f guird of forafatiaa & =u 3 Sien =i 2

[Question ID = 2937][Question Description = $1_qSNz_PG_EDU_Q09]
1. Interaction Analysis/si:fmn freemor

[Option ID = 11745]
2. Profile Analysis/uis=sitma Rrda

[Option ID = 11746]
3. Content Analysis/feesr Redmor

[Option ID = 11747]
4, Factor analysis/ s R

[Option ID = 11748]

Carrect Answer ;-
# [nteraction Analysis /al:fmn Gedmo

[Option ID = 11745]

10) Which of the following terms best indicates the intent of a qualitative research?
A. Understanding

B. Explanation

C. Description

D. Exploration

E. Interpretation

forgmieitian 3 31 Tlol A1 UG AT MGFitlicl @ 3299 ®l Jdliad FU 2 FDRT Bl & 7
A. aradlerel

B. 7usdipaur

C. faawor

D, aaunn
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E. =nz

[Question ID = 2938][Question Description = S$1_qSNz_PG_EDU_Q10]
1. A, Cand D/A, Cafz D

[Option ID = 11749]
2. A,Dand E/A, D aizE

[Option ID = 11750]
3. B,CandD/B, C =D

[Option ID = 11751]
4, B,DandE/B, DalzE

[Option ID = 11752]
Carrect Answer ;-
o A CandD/A,CaizD
[Option ID = 11749]

11) Which from the following are parts of the purpose of quantitative research?
A. Understanding of cultural traditions

B. Discovery of relationships among variables

C. Interpretation of human relationships

D. Confirmation of hypotheses

E. Generalization of results to other situations

fogafeian 3 3 Tlal  UlIAG- s o 3897 I 9Pl & 7

A. FiFnR gsuwsi ! s
B. @i o dita s o i

C. wrere el Dt o

D. ufFseuas &t gite

E. amer afsieieml o oionE] au ST

[Question ID = 2939][Question Description = $1_qSNz_PG_EDU_Q11]
1. A, Cand D/A, C &z D

[Option ID = 11753]
2. A,BandE/A,B 3z E

[Option ID = 11754]
3. B,CandD/B,C a D

[Option ID = 11755]
4. B,DandE/B,D &= E

[Option ID = 11756]
Correct Answer ;-
e A CandD/A,C dim D
[Option ID = 11753]

12) Which of the following statistical techniques may be successfully used to analyse research data available on ordinal
scale only?

A. Quartile Deviation

B. Student's t-test

C. Percentile Ranks

D. Chi-square test

E. Spearman’s correlation method

Choose the correct answer from the options given below,

forgmteilian 3 31 wia it wificrbla awelio! o1 JuRie] Daa AT ATdel U2 Juded] Aeitic 3l ol faeoavl ol © fie Jsamyde ke
11 e 3 7

A. Telhe Reoe
B. g an &-2¥¢

C. grenre it
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D. wre~rrarms aitemnoy

E. rdtasiier & wsader &fe
ol 2w =1e Rewedl 3 & 7 3o gm
[Question ID = 2940][Question Description = $1_qSNz_PG_EDU_Q12]

1. B.DandE/B, Dafim E

[Option ID = 11757]
2. A, Cand E/A, Cafie E

[Option ID = 11758]
3. A,Band D/A, Bz D

[Option ID = 11759]
4. B,CandE/B,C sz E

[Option ID = 11760]

Correct Answer ;-
e« B.DandE/B, Dz E
[Option ID = 11757]
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13) Which of the following statements are true for portfolio assessment technique used for performance evaluation of

students?

A. Assess students' growth and achievement over a period of time
B. Scoring process is simple, reliable and valid

C. Motivation and involment of students in learning is enhanced

D. Enable students to evaluate their own performance and products
E. The process of operation is less-demanding and time-saving

Choose the correct answer from the options given below.

ol @ Yeolda-gcaiea & fore geier & sra acht M bIerI o adsis © o forafaliaa & 3t Sia a1 oee w8 & ?
A, v FIHA-3El & 9 Orgl DI ghy iz Juctéy o Ardoet ©F

B. s ylRpen #iwa, Rrawsil iz 9 2

C. yaitea 3 sl & Ypun iz swesherd o aern s 2

D. ol @ srger ¥eri @ goola iz sract @ gouiwer wral | Fsa goiren

E. gaorerat b1 yRpar oget anaeearpal arell iz R &l aed ool archl &

At e v Rrredl # & wft @ iR
[Question ID = 2941][Question Description = $1_qSNz_PG_EDU_Q13]

1. A, CandD/A,C 3z D

[Option ID = 11761]
2. A,B,andE/A , B dfiz E

[Option ID = 11762]
3. B,DandE/B, D a E

[Option ID = 11763]
4. B,CandD/B,C s D

[Option ID = 11764]

Correct Answer ;-
o A CandD/A,C & D
[Option ID = 11761]

14) Which of the following are the characteristics of criteron-referenced-interpretation of test scores?

A. Achievement of specific skills or concepts by each individual learner is assessed.

B. Instructional objectives are based on identified skills, rather than on broader learning,

C. Test-items discriminate between examinees in terms of their relative postions in the group tested.

D. Scores are expressed in terms of percentile ranks or stanines to ensure inter-examinee comparison.

E. An examinee can compare his own performance in terms of development of skills over testing occasions.

Choose the correct answer from the options given below.

st 3 J oisr aileweagegss it e gl versenr 15 R £ 7
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A. geerr waftsera fdienell o5 gra Rfdrsc-wiiora ar sraenomnsdl Bt yaafer wr srwsas e swar 3

B. sreerrar 329w wnaes ARea aF awRT asarsl ST wivrer a? mentya sk

C. afigror-avg adtenfR @ & aftgror Rew oo a9z 3 soras Arder Farar @ dHod # fowa o E

D. gumies siaz-aftanelf goon wiifia aed & Rie emrs Joft :m 2R & wa i afteerrs §

E. v aftgne afigror @ sraad az Siva @& Reor © s # aad) wri & ygeler @1 goen w2 wavar 3
ofld R ore Rraseal 9 31 78 3vv @1 orer @3 ¢

[Question ID = 2942][Question Description = $1_gSNz_PG_EDU_Q14]
1. B,Dand E/B, DARE

[Option ID = 11767]
2. B, Cand D/B, Cafiz D

[Option ID = 11768]
3, A, Band E/A, Baiic E

[Option ID = 11766]
4. A, Cand E/A, Cafis E

[Option ID = 11765]
Correct Answer :-
e A CandE/A, CdRE
[Option ID = 11765]

15) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : The value of reliability coefficient of a test varies from 0 to +1, but can not be negative,
Reason R: The correlation of a set of scores with itself or a set of parallel scores can not be negative.

In light of the above statements, choose the correct answer from the options given below,

i 126 s1e 4 wuer &, ue ol afirose A @& @=a 3 3fiz gz @I ©rul R & wu 3 sl s srr 2
afireseret A: el adiemr 6 faeaseirar sptics ot At 0 31 +1 a@ fites 2lar 8, afépol oibRIcHD olél 31 Fbl
areor R: GYIFIE @ AHYE B TAW D AW AT AAGIGA QIATES ARG D ALY AEHAL SIPRICHT o181 81 Fa
I WAl @ gqorer #, o Re s Bredl & & w8t o gt

[Question ID = 2943][Question Description = $1_gSNz_PG_EDU_Q15]
1. Both A and R are true and R is the correct explanation of A/A 3 R Siaf =dt # 5z R, A 4 ot == 2

[Option ID = 11769]
2. Both A and R are true but R is NOT the correct explanation of A/A afie R 5wt it & difiea R, A & 21l = @it &

[Option ID = 11770]
3. Ajs true but R is false/A =&t 2 & R ot =t 3

[Option ID = 11771]
4, Adsfalse but Ris true/A o 2o R gt &

[Option ID = 11772]

Correct Answer :-
& Both A and R are true and R is the correct explanation of A/A iz R Sl =&t & & R, A &1 5t sarsen 8

[Option ID = 11769]

Topic:- Education_SH1_B

1) Read the passage below and answer the question
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One of the major weaknesses of the existing educational system is that it places an almost exhaustive reliance on full-time instruction and does not

develop adequately the two alternative channels of part-time and private study or own-time education. It has to be remembered that reliance on full-time
education as the sole channel of instruction often divides the life of an individual into three water-tight and sharply divided stages: a pre-school stage of
non-farmal education or work, a school stage of full-time education, and a post-school stage of full-time work and no education. In a modernizing and

rapidly changing society, educatian should be regarded, not as a terminal, but as a life-long process. It should kegin infarmally in the home itself, and
thereafter it should be the ultimate objective of the national policy to strive to bring every individual under the influence of the formal system of

education as early as possible, and to keep him under it, directly or indirectly, throughout his life. Similarly, there should be no water-tight separation

between work and education at any stage of man’s life, but only a relative shift of emphasis. An individual under full-time education should have some

work-experience as an integral part of his education itself; and every full-time worker should have the inclination, leisure and means to continue his

education still further. In the same way, the transition from one stage to another should not ke abrupt.
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=il 2 o1 sEne © ud i Y @ S 8

foreairs  Bgo guiredt &t gz cowsifyt 3 3 oo ug B By vad quitsifors sg@ersr oF e swgel sravia e seo B iz sivreftres oz Boht srearss @ aoearr & 81 Gwfous
aArTAl a9 o s wf e e oo wn Teren S B anielel O Ol Antas o a0 A guiaaiver Bun oz Bl s Roeit el oY Sftaa ot wgen e aee Az
Fraer 70 H  Fpofim gl § Pore & vl §; o @ Sirdiaaiss isn @ e gd-Rrreria @, geiesitaes fBien w1 ReEneri o, 8z grimitare orl i Ben 338 s
feremverdter erpor  awreyfires 3T A & evodt warse #, Bign o) vor araffer oftpa & wu A 5, afves sliam sy oot el gitgar & wo 3 aren ser it we o A 8 astioadyss wa 3@
91 Bioft e, 3T Tord are A oftfey T AifrH FEew Yok wftn it Siider s greet @ ageEret = 3 frem ot sfraenfyos gonedt @ gana 3 oot @ e gamer W wa # don wifdw w2 h
Lz, Has o sitas o5 (et oft srvor 3 San aa o ves wrdar ofvada @ slafys e iz B o5 9o @) siasg faswrsm @08 gion aof2e  gufesifers fign & aen ves safvs @1 srasht
Bug oy oo aifiee sier @ w=u 3 o orb-agea glon mi2eai geing griilias wiaens ot st s it off aet sl o6t o B o, sreorer Jiiz wter wen anfée 39 ter A
G TEOT W 223 g i FHap aqomfén A S o

The major emphasis of the contents of the passage is on:
sErfel Wl Rer-asg 1 g9 o A we &

[Question ID = 2944][Question Description = $1_qSNz_PG_EDU_Q16]
1. Pre-school and childhood education/ g Fenoeia A acamsen &5 B

[Option ID = 11773]
2. Vocational and skill-based education/=noeniFes i wlue smenbxT fen

[Option ID = 11774]
3. Life-long and continuing education/Sirkemrk stz s s

[Option ID = 11775]
4. Workers” skill up-gradation training/ ufiest w1 T eomrm gt

[Option 1D = 11776)

Correct Answer :-
e Pre-school and childhood education/ g Rrenrriter siiv arrarrsen 5 fasn

[Option ID = 11773]

2) Read the passage below and answer the question

One of the major weaknesses of the existing educational system is that it places an almost exhaustive reliance on full-time instruction and does not
develap adequately the twe alternative channels of part-time and private study or own-time education. It has to be remembered that reliance on full-time
aeducaticn as the sole channel of instruction often divides the life of an individual into three water-tight and sharply divided stages: a pra-school stage of
non-formal education or work, a schaal stage of full-time education, and a post-schaol stage of full-time work and ne education. In a modernizing and
rapidly changing society, education should be regarded, not as a terminal, but as a life-long process. It should begin informally in the home itself, and
thereafter it should be the ultimate objective of the national policy to strive to bring every individual under the influence of the formal system of
education as early as possible, and to keep him under it, directly or indirectly, throughout his life. Similarly, there should be no water-tight separation
betwaen work and education at any stage of man’s life, but only a relative shift of emphasis. An individual under full-time education should have some
wark-experience as an integral part of his education itself; and every full-time warker should have the inclination, leisure and means to continue his
education still further. In the same way, the transition from one stage to another should not be abrupt.

ol Favy oy srEnion o6Y o AT oom @ T

e f2rsm gonelt &t g woEiEl d A oo oz § B sd geimittie aRere o veneT syt smeid wm een € afiz st Az Gl snteere @ A o <) Imftuay
AR W oy w0 3 R ot R vrn € w1 i Twren S9N B aegl ol @ QRre AT o =0 & guianieas Bren uz Beafzar e Reett wafts o oftee ot wgen e soaa ot
Fraw wma q foofie ool 3 Bwee o o & oo = Siesiiomtas i o ves od-Freoerita oo, gefasifees ien @ fenerdta o, iz gofanfens ol s Ben 58 e
Rrenerle s angfforp 2 delt 3 agort war 4, D o v aaiiee gipm @ g A ofl, ai e sz acwt ol gidgn © wu 3 aren oo @ige a@E 82 3 aeiais w
9% Bl TiiRediz sHS ae WRRL <1V 6T AR 3297 s <aien O Sias o7 Oesrad 3 S Tel o0 3 ien o6 sfiventss gt @ qura 3 oy o e e & w0 3 Sen ol w3t
TG, AT O HAiae o el o oot ff oo e oo ooy A aivwder 9 sl o sz e o dia o ooy R ol son wofde  guiasitrr 1n o e v ol o) st
g o s arfiresr 2ie1 @ w0 3 gy orl-3epa Son miRe;siz griee gofanfRnrs wiaens ot sraett farg arft aff st St swmr W B genTa, areesror sfie e gon wifde =2 e R
e Ervor 3t e e 3 Hamwor acgrenforn srd Srar afay

Which alternatives to full-time education are suggested in this passage?
g #reier # qolwdies B 9 o 3t Fesog geny w8

[Question ID = 2945][Question Description = $1_qSNz_PG_EDU_Q17]
1. Both school-based and private study

[Option ID = 11777]
2. Regular evening and night classes

[Option ID = 11778]
3. Evening classes and personal self-study

[Option ID = 11779]
4. Half-day school and half-day work

[Option ID = 11780]
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Correct Answer ;-
# Both school-based and private study
[Option ID = 11777]

3) Read the passage below and answer the question

One of the major weaknesses of the existing educational system is that it places an almost exhaustive reliance on full-time instruction and does not
develop adequately the two alternative channels of part-time and private study or own-time educatfon. It has to be remembered that reliance on full-time
education as the sole channel of instruction often divides the life of an individual into three water-tight and sharply divided stages: a pre-school stage of
non-formal education or work, a school stage of full-time education, and a post-school stage of full-time work and ne education. In a modernizing and
rapidly changing society, aducation should be regarded, not as a terminal, but as a life-long process. It should begin infermally in the home itsalf, and
thereafter it should be the ultimate objective of the national pelicy to strive to bring every individual under the influence of the formal system of
education as early as possible, and to keep him under it, directly or indirectly, throughout his life. Simfilarly, there should be no water-tight separation
between work and education at any stage of man’s life, but only a relative shift of emphasis. An individual under full-time education should have some
work-experience as an integral part of his education itself; and every full-time worker should have the inclination, leisure and means to continue his
education still further. In the same way, the transition from one stage to another should not be abrupt.

ottt o w1 sreaiyn @ ud A yrw @ o

Freramer  f2ram gonett 26t gapa warslited 3t 3 gov o & By sl geffens segeerer ov ooneT sagot amwiw zEn srn @ S atermfenn dft Gl anemr @ w8 <) weuay
Al 1 WRITH W 3 e o B o0 & 415 e 33 2191 A6 sre el dF o e o = # guicifers Pien us Brlza sz Resfl =afte o Sitas @t 9gen e g9 iz
Fuee w0 A1 Roofwr oo A B o= 3w & o @ iz diuafo fisn o v gd-Rroeria @z, geimiiinas Rrgn o Recrf e, 3R grimférr ot B Boa o am
Fencritr cem amggferr Az St 31 oot war 3, e w wor anafiens g @ = 3 o, aftv st sz e ancl g o wu 3t aren sen aie 9F @ 3 3 aeiioaieEr S #
aj% 2YEN afdy, ity vords e el Sitfen et aiffrer s2ver ordyes salvr oot Stiam a0e orasr @ sigresr = 1 Rizn & siiaenfyes quieft & gra 3F et o By gaos © wo F fen a2y w3t
T, AT i Sfterat i Rt oft ot 3t e wer e A e afyader @ affis W die fign @ da a9 sy Ronsm o A ity | yokeiiRas e o e wr ks @ auh
Hien @ o tiea o |5 = # oo Trl-aayEa S a2z grie QUi 1A o0 sast e sl off aeard wes @ s e, aaeste ofis A den Ty w1l am R
IS T A T AT 3wy ayenidn s gl anidy

What is meant by the concept of ‘own-time’ education in the context of the given passage?

R o1 swniyr O vial # e &t arrenron F e adsng E 7

[Question ID = 2946][Question Description = $1_qg5Nz_PG_EDU_Q18]
1. Going to school as per own convenience

[Option ID = 11781]
2. Studying in a private coaching school

[Option ID = 11782]
3. Going to attending night classes

[Option ID = 11783]
4, Studying at home at leisure-time
[Option 1D = 11784]
Correct Answer :-
& Going to school as per own convenience

[Option ID = 11781]

4) Read the passage below and answer the question

One of the major weaknesses of the existing educational system is that it places an almost exhaustive reliance on full-time instruction and does not
develop adequately the two alternative channels of part-time and private study or own-time education. It has to be remembered that reliance on full-time
education as the sole channel of instruction often divides the life of an individual into three water-tight and sharply divided stages: a pre-school stage of
non-formal education or work, a school stage of full-time education, and a post-school stage of full-time work and ne education. In a modernizing and
rapidly changing society, education should be regarded, not as a terminal, but as a life-long process, It should begin informally in the home itself, and
thereafter it should be the ultimate objective of the national policy to strive to bring every individual under the influence of the formal system of
education as early as possible, and te keep him under it, directly or indirectly, throughout his life, Similarly, there should be no water-tight separation
between work and education at any stage of man’s life, but only a relative shift of emphasis. An individual under full-time educatien should have some
work-experience as an integral part of his education itself; and every full-time worker should have the inclination, leisure and means to continue his

education still further. In the same way, the transition from one stage to another should not be abrupt,

oft< fo o SEpion w1 oE AT g W ave o

e faran guiredt 6t g sasiiEt 3 3 o 125 3 B e Qrimiins g2 erst uF weEnET WUl scd T4 R0 § AT sersiens sfis Bl s @ s & 3 deleud
wezeal @y i o 3 Rrasrey srél Boan sen 3w wre warmy 2rn 135 srmBorm oF veowe wee @5 o # gufanfis Boen o st srras Rosfl cafte o sitam ot agey s seea i
Fyaer 70 A o awoi & fees w2 tm & o @ SiEsfiomtas e o we gd-ferenita oem, geimiens Ben o Renceitr o, o geinafers ort aiiz Ben ol om
REmeriRr aam  aregfers iz Ol 3 aood Jars 3, (180 ) o5 SIaies QRE & w0 3 o, afes S o7 oo acdl gREn & w0 3 A se0 ai?e 9w a3 3 8 asivaniyr a3
913 Bioft anfd,siiy vt @G I iR av it SR ve grdes cafer oot siver 92 Oeres =0 aqyes = 3 e o siaaiye genedt @ gana d et © R g © wa § don afée 53t

e, Moo o St & et oft oo 3 diaa ga a0 v Aaney aivaeds & afatss o i fan 495 Jia o sersg s =@ Slen iy grisiers isn @ asa oo =ik w1 aasit
Aoy B e e ity et gy o ey s e ey e ey B e g e T e e sk e et oY el el sepmeey ot B perciery ey i sy oy e T o
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S SOEOT 3 gy T 3t FHpmeT argemiae ol Son iRy

Who should be the first teacher(s} for a child, as indicated in the passage?
o Al % oy ugdr fhisren wia o iy, S s sener & ek sem & 7

[Question ID = 2947][Question Description = S1_qSNz_PG_EDU_Q19]
1. Peers in the neighbourhaod /w=a & m=odt

[Option ID = 11785]
2. Mother and father at home /== & # sz fieT

[Option ID = 11786]
3. Care-takers in child-care center/scal &1 Smysrer-oie 3 Smser e gl

[Option ID = 11787]
4. Teachers in a nursery school/var st =om 3 e

[Option 1D = 11788]

Carrect Answer ;-

# Peers in the neighbourhood /o= & maawt
[Option ID = 11785]

5) Read the passage below and answer the question

One of the major weaknesses of the existing educational system is that it places an almost exhaustive reliance on full-time instruction and does not
develop adequately the two alternative channels of part-time and private study or own-time education, It has to be remembered that reliance on full-time
education as the sole channel of instruction often divides the life of an individual into three water-tight and sharply divided stages: a pre-school stage of
non-formal education or work, a school stage of full-time education, and a post-school stage of full-time work and no education, In a modernizing and
rapidly changing society, educatian should be regarded, not as a terminal, but as a life-long process. It should kegin infarmally in the home itself, and
thereafter it should be the ultimate objective of the national policy to strive to bring every individual under the influence of the formal system of
education as early as possible, and to keep him under it, directly or indirectly, throughout his life, Similarly, there should be no water-tight separation
between work and education at any stage of man’s life, but only a relative shift of emphasis. An individual under full-time education should have some
work-experience as an integral part of his education itself; and every full-time worker should have the inclination, leisure and means to continue his

education still further. In the same way, the transition from one stage to another should not ke abrupt,

=il 2 o1 sEny © ud i g m A

forerirm  Bgo guiredt &t gz cowsifyat & 3 oo ug B By vad quitsifors sre@ers: oF eeresT swgol v van sen B i sivreiftres Az Boht srevrs @ waoearr & 81 Gwfous
AnTAl a1 v e wf e e g wne Zeren S B anpielel OF oAl At o a0 A guiaaiver Bin o Bl saee Roeit wafio oY Sitaa ot agen fiw aee Az
Fraer 70 H  Fpofim gl § Fors o3 v § o @ Sirdioaiss ien @ e gd-Rrreria @, geimsitas Bian w1 ReEneeit o, 8z grimitere orl i Ben 338 s
Foremereltey eraor  anegfres aiiy it & avort A #, Rign o) vy wailes gitga @ wo A s, it siios w7 aemt el gftsar o wa 3 aen sweer mfdy w9 & asiomiyes wa 3@
91% Bioft iR, stz Tord are A oitfey T aiftr FEew yrden wfn it siider M greet  ageEer = 3 fren ot sy gonedt @ gena 3 orer @ e gara @ wa # don widw w2
oz, s o Sitaw o5 (et oft srvor 3 Saw aa o ves Al ofvada © alafvs e iz By o5 9o @) siaosg faswsm @8 gion aofe gufesiferes fign @ aen ves salvs @1 srasht
Bun @ o atfice sier @5 z7a A @y wrel-uagsa Elon @igy;at gedg goiariéns wraems ot aaett 95 anft off ast sl ot o Ry gpore, srewreTen st s son afée 33 e 3
G TE0T W 203 g A FHap sqomfén A S o

What is the opinion of the author about education and work?
rea iz o @ | 3 daw Bram T E

[Question ID = 2948][Question Description = $1_gqSNz_PG_EDU_Q20]
1. MNo work at the time of education/fen o = BE oM@ ot

[Option ID = 11789]
2. No education while working on a job/dicd W &=t gu T8 fren =gt

[Option ID = 11790]
3. Education and work to be integrated /forsn sitz @ ot exbiager R smen wmize

[Option ID = 11791]
4. Education and work should not go together /f3en 3ftz @ zmer-zmer @12 g5 anize

[Option ID = 11792]

Correct Answer ;-

e Mo wark at the time of education/ fen =5 s ol o ot
[Option ID = 11789]

Topic:- Education_SH1_C

1) How does organisational climate affect the employees in an organisation?

ket Zisroe & HeIoolca s ABIA DRI B B2 Yorlada it & ?
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[Question ID = 2949][Question Description = $1_qSNz_PG_EDU_Q21]
1. Respect for employer and salary/ierimst iz & oo e

[Option ID = 11793]
2. Team spirit and quality of products/dis swen Jfiz srursi @ aprrm

[Option ID = 11794]
3. Productivity level and motivation level/sera == 4 T ==

[Option ID = 11795]
4. Employees’ dedication and salary/owfmb=t o merdfor die &=

[Option ID = 11796]

Correct Answer :-
® Respect for employer and salary /Gt diT d0a o F#9am

[Option ID = 11793]

2) Who among the following has propounded Scientific Management theory?
formfaitian 3 3 fRoaey dsnfores ydeer Rrgia o ginmiza foam 2 ?

[Question ID = 2950][Question Description = S1_qSNz_PG_EDU_Q22]

1. Guillick and Urick/ajfémr sz gfim

[Option ID = 11797]
2. F.W. Taylor/ow seeg i

[Option ID = 11798]
3. Elton Mayo/vees 3=

[Option ID = 11800]
4. Peter Drucker/iez sm

[Option ID = 11799]

Carrect Answer ;-
# Gullick and Urick/sf?ms sz gisn

[Option ID = 11797]

3) Which of the following states the principles of Scientific Management theory?

forrifeil¥an A A wia dsniorr yaaa RBigia @ Jo avail ©f aarr 8 ?

[Question ID = 2951][Question Description = $1_qg5Nz_PG_EDU_Q23]
1. Science, not rule of thumb, Harmony, Co-operation, and personal efficiency level/Femm, agm, ads R garm 0 |, Si@ienisnT =1 sarEiteT oeal

[Option ID = 11801]
2. Leisure time, Work environment, Harmony among emplovees, and relation with employer/srrrmel @ 39, T Tl T AEA , THOleEl @ dig AEe, T Brirm
T HTE e

[Option ID = 11802]
3. Working hour, Profit from work, Work-specification, and leisure time benefit fasm © g2, wer 31 tw, ori-RfEdr, iy Joosm SR BT o

[Option 1D = 11803]
4. Routine work, Hierarchical structure, Motivation, and Punishment /Erin wm, semrmim dzge, gon Hiz 5=

[Option ID = 11804]

Correct Answer ;-

® Science, not rule of thumb, Harmony, Co-operation, and personal efficiency level/ s, wpm, awril Gultes samn s st o =iraedss =i
[Option ID = 11801]

4) Who among the following list of thinkers of management has developed the theory of “Variation”?

geiee O Rarvest &t frroferidra it 9 A Roaa "fAfeen” @ Rrgia o Roba s 3 7

[Question ID = 2952][Question Description = $1_gSNz_PG_EDU_Q24]
1. Peter Drucker /iies ===

[Option ID = 11805]
2. Mouton and Blake/#ice sz =0

[Option ID = 11806]
3. Edward Deming/w=as afEEr

[Option ID = 11807]
4, Henry Fayol/2srdt oeiier

[Option ID = 11808]
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Correct Answer :-
¢ Peter Drucker /diez zow

[Option ID = 11805]

5) What does PDCA stand for in the theory of Total Quality Management (TQM)?
et S[oTe geEera (TOM) o firgia 3t PDCA or o aref & 7

[Question ID = 2953][Question Description = $1_gSNz_PG_EDU_Q25]
1. Play, Dig, Cry, Act/w1, f==1, o, mae

[Option 1D = 11809]
2. Plan, Do, Carry, Act/ooms, 3, 954, v

[Option ID = 11810]
3. Plan, Do, Check, Act/wm, 5, 9, me

[Option ID = 11811]
4. Publish, Dashboard, Careful, Act/waider, Somrd, g , vae

[Option ID = 11812]
Correct Answer ;-
# Play, Dig, Cry, Act/a, 2, mE, @e

[Option ID = 11809]

6) Which of the following gives a description about health and health-related states of an individual?

Bremitrion # & oie 711 ool oy woren s Fawes 7 wdfieT aaren S an A R s E 7

[Question ID = 2954][Question Description = $1_qg5Nz_PG_EDU_Q26]
1. ICF Model/ICF #ifse

[Option ID = 11813]
2. ICMR Act/ICMR afifare

[Option ID = 11814]
3. UGC Model Act/UGC sifser sfifrm

[Option ID = 11815]
4, PWD Act/dizer aftforms

[Option ID = 11816]
Correct Answer -
& |CF Model/ICF #itzm

[Option ID = 11813]

7) How many types of disabilities are listed in the PWD Act 2016 of India?

sreer o5 Greeedt alifrrs 2016 3 Bood g 6t Frasarmr geitag § 7

[Question ID = 2955][Question Description = $1_qSNz_PG_EDU_Q27]
1. Five (5)/ui= (5)

[Option ID = 11817]
2. Fifteen (15)/dgz (15)

[Option ID = 11818)]
3. Twenty-one (21)/zxbi= (21)
[Option ID = 11819]
4, Twenty-seven (27)/mma (27)
[Option ID = 11820]
Correct Answer ;-
e Five (5)/a= (5)
[Option ID = 11817]

8) As per 2011 Census of India, what is the total number of disabled persons in India?
2011 &5 sz & AP & AR, M A fadaiel &I Ga Fizen et € 7

[Question ID = 2956][Question Description = $1_qg5Nz_PG_EDU_Q28]
1. 1.8 crore/1.8 w3z [Option 1D = 11821]

2. 2.68 croref2.68 w3tz [Option (D = 11822]

3. 3.80 crore/3.80 w3tz [Option (D = 11823]

4, 4.86 crore/4.86 waw [Option 1D = 11824]



wWww.prepp.in .repp

Your Personal Exams Guide

Correct Answer :-
& 1.8 crore/1.8 @iz [Option 1D = 11821]

9) Match List | with List 1l

List | IList I

System of education IMeaning of the system of education

A, Inclusive education |I. Where the disabled children are taught in separate institution
B. Special education |II. Where the children with special needs are taught along with normal ones|
C. Integrated educationhll. Where the children without any special needs are taught

D. Normal education |IV. Where disabled children are taught in the same class with special care
Choose the correct answer from the options given below:

et -1 @ et -l B AR Hif

it - it -1l
foren-cerasen  [fOrsi-wrasen o aref
g;&n o | s1aT Roaisr el @) arcrer dven 3§ ggrer swan 3
B. Il.51Ei fafdree sl arcl acdi B A adl & HATY UGRIT
faforee foigm  f@imem 8
c. i
T Il.=151 Ao Rifdree Sl ardt gl @) aeren s 3
D. IV.51et oo sl @ wam won # Rid $Aamigeao UgRI SR
Ao forgm 8

a1k o oo Repedl 3 3 318l 302 gieme :

[Question ID = 2957][Question Description = $1_qSNz_PG_EDU_Q29]
1. A-LB-1IL,C-1L,D-IV

[Option ID = 11825]
2, A-I,B-1,C-1v,D-ll

[Option ID = 11826]
3. A-NLB-IV,C-1I,D-1

[Option ID = 11827]
4. A-1,B-IV,C-1,D-1N

[Option ID = 11828]
Correct Answer ;-
e« A-|,B-ILC-,D-1V
[Option ID = 11825]

10) Match the theory of leadership in column-A with its focus in column-B.

List | List Il

Leadership theory Basic focus of the leadership theory

A. Contingency theory  ||. Motivate followers by appealing to their interest areas

B. Transactional theory |Il. Identify needed change and create a vision for the organization and make people commit to it]
C.Transformational theoryllll. Understand the needs of people and satisfy them

D. Servant theory |IV. It is the circumstance that make a leader

Choose the correct answer from the options given below:

oic-A i oigra Rrgia © Fma ofow-B 3 agea Rigla @ smamesya g 21 gafoa Hifers |

et -l & -1l
A.
SIDRFADT | smerifire} B 3ord> SR A5l B iR Ofa o3
Brgia
B. der-2o1 o M- 3aeus aiacial @l aswiel iz Heoor @ firg v £ide wony
Rigia iz olisll @l gaw fow yiieg @
C. aftardorrl)|, it bt st o 2t 3 o Tigee @
By
D. @D BT ||y, o5 ap uRBafy & $ 5t v Jar O T 3
R
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offa v =10 Reseal 3 7 A saz ofew :

[Question ID = 2958][Question Description = $1_qSNz_PG_EDU_Q30]
1. A-ILB-1L,C-1,D-1V

[Option ID = 11829]
2. A-IV,B-1,C-1,D-I

[Option ID = 11830]
3, A-IV,B-1,C-1l,D- 1l

[Option ID = 11831]
4. A-UL,B-1,C-N,D-1IV

[Option ID = 11832)]

Correct Answer ;-
e A-ILB-1L,C-M,D-I¥

[Option ID = 11829]

11) What is the process of organizing inclusive education in a classroom?
A, Evaluation of students’ progress

B. Identify CWSN in the class

C. Study the problems of CWSN

D. Plan and Organize teaching by adapting the method and approach
E. Provide feedback to stakeholders

Choose the correct answer from the options given below
gar o A wardeft Rren & smatere &t gfdgar oo 3?7

Aol &t gerfer w1 geerioa

B. wen & CWSN &t usarar w3

€. CWOSN @t sorrarsil w1 siezrrer o3

D. faf?r 3z efcaor @t srgemrs fHrgmor o wrafem iy glerifna o3
E. Basast o giegfee &

ofta e =10 Reseal 3 A w78 s gdl ¢

[Question ID = 2959][Question Description = $1_gSNz_PG_EDU_Q31]
tiohy B G, DGE

[Option ID = 11833]
2. B, A D,EC

[Option ID = 11834]
3, C,E, DB, A

[Option ID = 11835]
4. B,C,D, A E

[Option ID = 11836]
Correct Answer :-
« A B C,D,E
[Option ID = 11833]

12) What are the essential requirements to make education inclusive?

foram =Y FraTaoft aenel @ foe o= amgeas 7

[Question 1D = 2960][Question Description = $1_qSNz_PG_EDU_Q32]
1. Teacher's competencies to teach, Teacher's Attitude, Classroom, and Computers/aremge & e & gerand, faeest & 76, Tan 0 Segpe

[Option ID = 11837]
2. Parental involvement, Teacher's attitude, Teacher's competencies in teaching, and Administrator's support/ am-fiem @5 smelerd, Sert ar =9, e
1 ferot Wt geET ofie YoIeRnt T Jmeln

[Option ID = 11838]
3. Peer group support, Teacher's competencies, Principal’s support, Parent's involvement, and Counsellor's support /el & weg @1 weela |, et &
G, EaAmE 1 ek, - & aefierl, i weriam o maea

[Option ID = 11839]
4, Accessibility of institution, Support from teachers, Teacher's competencies, Peergroup support, and Counsellor's support/szer &t gga, Berot & meel
. Iarerert ot cerm. e ot geErT. Sl opeiErm g e
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[Option ID = 11840]

Correct Answer :-

® Teacher's competencies to teach, Teacher's Attitude, Classroom, and Computers/ sremiel 25 Prere! & seirmd, 9! o 20, a1 b oEes
[Option ID = 11837]

13) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Democratic management is based on the principle of peoples participation.

Reason R: A leaders who takes administrative decision by himself/herself believes in democratic procedures.
In light of the above statements, choose the correct answer from the options given below

ofla 5t wee Re srg T : w1 aifinmem (A) sfiv gan} @it aab (R) wer sro 3

sificperst (A) © droaifirs ydaeE sl &t smeiied © Bigia us smenfsa 3

aas (R) @ WD ol il ¥ YIbre Bk dar okl 3, alwaifw gignsil # firas o / owdt 3

T wusil & ancie # BewiRed Rooal 3 3 3138 o gt @

[Question ID = 2961][Question Description = $1_qSNz_PG_EDU_Q33]
1. Both A and R are true and R is the correct explanation of Af{A) sz (R) St 78 & s (R), (A) o5t 78t =ne=n &

[Option ID = 11841]
2. Both A and R are true but R is NOT the correct explanation of A/ (A} Hiz (R) Sl 5 & aasgg (R), (A) & =2t == =gt &

[Option ID = 11842]
3. Afs true but R is false/ (A) =2t 2 wemg (R) w2t ot £

[Option ID = 11843]
4. Ais false but R is true/(A) & ot Eozeg (R) a8 &

[Option ID = 11844]

Correct Answer :-

# Both A and R are true and R is the correct explanation of Af(A) sz (R) gi=f =8 £ iz (R), (A) @5 =1 =me=m 2
[Option ID = 11841]

14) Which of the following is known as unit cost?
forraifertiae 3i 2 fop3) s amdteT & WU 3 Alell 6N 3 7

[Question ID = 2962][Question Description = $1_gqSNz_PG_EDU_Q34]
1. Total expenditure incurred by an institution and spent by it/ ol J=en a1 Rren #Fn 9T 3w =R i 3350 or B swn =Er

[Option ID = 11845]
2. Total income minus the expenditure /e o i 951 a=

[Option 1D = 11846)
3. Total amount earned from cess and donations/ g ufér e sz oo 3 afskr o6 o

[Option ID = 11847]
4, Total expenditure by the institution divided by total number of students/Zizen g Br o1 w0 =w @ Bl 6 e H5n o BT B ser

[Option ID = 11848)]

Correct Answer :-
» Total expenditure incurred by an institution and spent by it/ ksl Jizen g Tear w=n o0 Joom =9 iz F96 o e o &=

[Option ID = 11845]

15) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: NAAC assesses and accredits only those institutions of higher learning that have either completed six years of
establishment or have produced two batches of graduates.

Reason R: IQAC helps to find out the new courses to start and recruits teachers.

In light of the above statements, choose the correct answer from the options given below

il & weret Re s1w ¥ 1 wirs @t abrawsersr (A) 3iiz ge ot aod (R) wer ok 3

sifircsera (A) @ NAAC o foremn o oo 308t sivenal o siavaer wean iz 308 @reaar 31 8, Besla sraeht renasn & ws e @ o2 g
2z o faes T © €1 9 Idivt §

a® (R) ; IQAC axji @I ow yra fow el AT g B Ul oeid & 30z 9empt &1 sl oo 3 e swm &
e weEl & A 8 formifoa Resodl #d 21 3dt vz gel |

[Question ID = 2963][Question Description = $1_q5Nz_PG_EDU_Q35]
1. Both A and R are true and R is the correct explanation of A/(4) afiz (R) St 71t & 3fiz (R), (A) o5 718t =ns=n 2
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[Option ID = 11849]
2. Both A and R are true but R is NOT the correct explanation of A/ (A} Hiz (R) Sl 5 & aasgg (R), (A) & =2t == =gt &

[Option ID = 11850]
3. Afs true but R is false/ (A) == 2 wemgg (R) =&t ot &

[Option ID = 11851]
4. Ais false but R is true/({A) 7t o & ooy (R) ot 8

[Option ID = 11852]

Correct Answer ;-
® Both A and R are true and R is the correct explanation of A/(A) sz (R) =it =t £ iz (R), (A) & 3t women &
[Option ID = 11849]

Topic:- Education_SH1_D

1) Read the following passage and answer the question.

Pedagogy as practiced today in the classroom is mostly a teacher-centred, input-output medel. It entails inputs by the teacher. It envisages a prototype
output in the learner, canfined within the philosophy — “What is relevant for examination is relevant for education’. However, in the context of learning
in the constructivist framework, the ‘Desirability’ of Teaching-learning Process (TLP} consists of input by the learner leading to output by the learner. One
may call this the learner-centred input-output model. Howewver, optimisation of TLP leading to maximization of meaningful learning cannof afford to
cansider the teacher and the learner in is¢lation. Thus in ‘Ideality’ the composite model for TLP involves input by both the teacher and the learner
axpecting a planned construction by the learner. This means the ‘Reality’ should help the ‘Desirability’ to approach the ‘ldeality’. We call this crucial
because through conclusive field study-based evidences constructivism advocates that; the learner constructs his/her knowledge, no learner enters a class
devoid of persenal constructs (Alternative conceptions), and knowledge is constructed through a process of conceptualization. Thus to maximise
meaningful learning it is essential fo know what are the contributing structures {inputs) the learner carries with him/her intc the classroom and using

which hefshe s going to construct new structures {output).

ol Favy vy wrErion w61 o AT oom @ o

aivst Farey o 3 eog 3 f3rsvr-gsey soeren Blan % ay a2t aesnas-Dlver, fraer-afddyr disa . sad searas zra Bras siidem gion % s alterawat # oo sersa afzda
affur 2 & sit 521 Rrane 2 sy g § 2 ‘s aftgn & R qribee &, az Rigm @ R it grfis & Ry, dvaemard v 3t siftom @ ubkga &, Rresvr-aftom g (S
i1 ‘qisiErr #® AEEREs 71 Red Jet 91 BRsl 31 3o AifEResal ol s anfiEa 3 2 231 atEmraal-aiteen Prrse-afider sifea e 1 33wan . aeofty, foadi 6t
FrorTaRT 3 wenT Frdar afirm afimsrasn & R 2o 2 aiteeral 1 gae o © oidl S8 w1 3L 570 goer asel’ fvodt @ sifiay sisa # spaow e aRemaat
Sreit e farter onfde & Jfte srarral gra o Britfa Gl o st 45 oit & ot el 3 B ‘gt fraky aor ads @ fong Smenel @6t ‘aimstar w1 wernn 2o e, @
s mpragd we § ol frodkes S5 sewam-scenfer mugedl 9 aneqr 8 deomars saht aorarn o § e afferarasat sobt s s Frardor ssenn/asa Tt B, oo oft siffearasat
Sufiras GifdRER [GEwsfoow Awogenal] 3 A & we wen ® gerer o1 e § afiT e w Raror Frseaen-fertifzor 1 o g @ mreaar 3 3 & s mehn afterar @ aiftraar
Tl O [T 1% e A9 & B aftpnrl i i deerRl s (B1e091) Ads] J1el o @ el # gael Tt & iz R Ole @ #1996 aF dsaont (afiden) o B
oo amfari &

Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Education today is based on the belief that “what is relevant to examination is relevant to education.”
Reason R:  Constructivist approach is based on “input by student leading to output by learner.”

In light of the above statements, choose the correct answer from the options given below

oft 5t weue Bu o ¥ ¢ o @) afirwer (A) dfiz g ) mat (R) o o &

afirserat (A) ©  addarar fren o emaon Uz snmenfya & fop s udten & fore gt 2, az fismr o oo off grefems 3
it (R) : sl Furn Tl o P s are Rrter A et Tt o alddor or i &

FoRfers et @b aneirs 3t Rreonfea Rrsedt 3 31 78 3w gt ;

[Question ID = 2964][Question Description = $1_qSNz_PG_EDU_Q36]
1. Both A and R are true and R is the correct explanation of A/(A) 3fiz (R) Seil 38t 2 3fiz (R), (A) & ot === 8

[Option ID = 11853]
2. Both A and R are true but R is MOT the correct explanation of A/{A) diz (R) =g 7d £ uzmg (R), (A) &5 =2 =arr=n =idt 2

[Option ID = 11854]
3. Afs true but R is false/(A) 38 2w (R) =& at &

[Option ID = 11855]
4. Ais false but R is true/(A) #ft ol & uzorg (R) =t £

[Option ID = 11856]
Correct Answer ;-
& Both A and R are true and R is the correct explanation of A/(A) 30 (R) &l =8 € 3fiz (R), (A) &1 2t =reen &

[Option ID = 11853]



wWww.prepp.in .repp

Your Personal Exams Guide

2) Read the following passage and answer the question.

Pedagogy as practiced today in the classroom fs mostly a teacher-centred, input-output model. It entails inputs by the teacher. It envisages a prototype
output in the learner, confined within the philosophy — *What is relevant for examination is relevant for education’, However, in the context of learning
in the constructivist framework, the ‘Desirability’ of Teaching-learning Process (TLP} consists of input by the learner leading to output by the learner. One
may call this the learner-centred input-output model. However, optimisation of TLP leading to maximization of meaningful learning cannot afford to
cansider the teacher and the learner in is¢lation. Thus in “Ideality’ the composite model for TLP involves input by both the teacher and the learner
expecting a planned construction by the learner. This means the ‘Reality’ should help the ‘Desirability’ to approach the ‘ldeality’. We call this crucial
because through conclusive field study-based evidences constructivism advocates that; the learner constructs hisfher knowledge, no learner enters a class
devoid of persenal constructs (Alternative conceptions), and knowledge is constructed through a process of conceptualization. Thus to maximise
meaningful learning it is essential to know what are the contributing structures (inputs) the learner carries with him/her inte the classroom and using

which hefshe is aoing to construct new structures {output).
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What does constructivist approach advocate?
A. Learner constructs his knowledge

B. Teacher is fore-runner of knowledge

C. Books are the basic source of knowledge

D. Each [zarner has his own constructs

E. Conceptualization process is individualistic

Choose the correct answer from the options given below

HIERt 0@ Rorrfl aawnT avaT &7
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[Question ID = 2965][Question Description = $1_qSNz_PG_EDU_Q37]
1. A, B, and D only/

fae A, B Aiz D
[Option ID = 11857]

2. A, C,and Eonly/dmm A, Caliz E

[Option ID = 11858]
3 A,D,andEonly/@aa A, DAz E

[Option ID = 11859]
4, C,DandEonly/@mm(, DA E

[Option ID = 11860]
Correct Answer :-
e A, B, and D only/

waeT A, B iz D

[Option ID = 11857]

3) Read the following passage and answer the question,

Pedagogy as practiced foday in the classroom is mostly a teacher-centred, input-output model, It entails inputs by the teacher, It envisages a prototype
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output in the learner, confined within the philosophy — "What is relevant for examinatien is relevant for aducation’. However, in the context of learning
in the constructivist framework, the ‘Desirability’ of Teaching-learning Process (TLP} consists of input by the learner leading to output by the learner, One
may call this the learner-centred input-output model. However, optimisation of TLP leading to maximization of meaningful learning cannot afford to
consider the teacher and the learner in iselation, Thus in ‘Ideality” the composite model for TLP involves input by both the teacher and the learner
expecting a planned construction by the learner. This means the ‘Reality’ should help the ‘Desirability’ to approach the ‘ldeality’. We call this crucial
because through conclusive fizld study-based evidences constructivism advocates that; the learner constructs his/her knowledge, no learner enters a class
devoid of persenal constructs (Alternative conceptions), and knowledge is constructed through a process of conceptualization. Thus to maximise
meaningful learning it is essential to know what are the contributing structures (inputs) the learner carries with him/her inte the classroem and using

which hefshe is geing to construct new structures {output),
oft< fo o SEpion w1 oE AT g W ave o
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Which of the following characterize Constructivist approach?
Brrmfofian # 3 oiv Seomnardt soee oy sabioenr 57

[Question ID = 2966][Question Description = $1_qSNz_PG_EDU_Q38]
1. Learner centeric/ afrprpdl Do

[Option ID = 11861]
2. Teacher centeric/asnges Siegn

[Option ID = 11862]
3. Group centeric/ T9g BT

[Option ID = 11863]
4. Subject centeric/fes g

[Option ID = 11864]

Correct Answer ;-
e Learner centeric/affemrrrd Diegn

[Option ID = 11861]

4) Read the following passage and answer the question,

Pedagogy as practiced foday in the classroom is mostly a teacher-centred, input-output model, It entails inputs by the teacher, It envisages a prototype
output fn the learner, confined within the philosophy — ‘What is relevant for examination is relevant for education’. However, in the context of learning
in the constructivist framework, the ‘Desirability’ of Teaching-learning Process (TLP) consists of input by the learner leading to output by the learner. One
may call this the learner-centrad input-output model. However, optimisation of TLP leading to maximization of meaningful learning cannot afford to
consider the teacher and the learner in iselation. Thus in ‘ldeality’ the composite maodel for TLP involves input by both the teacher and the learner
expecting a planned construction by the learner, This means the ‘Reality’ should help the ‘Desirability’ to approach the ‘ldeality’. We call this crucial
because through conclusive field study-based evidences constructivism advocates that; the learner constructs his/her knowledge, no learner enters a class
devoid of personal constructs {Alternative conceptions), and knowledge is constructed through a process of conceptualization, Thus to maximise
meaningful learning it is essential to know what are the contributing structures (inputs) the learner carries with him/her inta the classraem and using
which hefshe is going to construct new structures {output).
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What type of teaching-learning process is practiced today in our classrooms?
acianer FAET ® EE el d R gEne o eyt gops wraen S 87

[Question ID = 2967][Question Description = S1_qSNz_PG_EDU_Q39]
1. Student centeric/Rrmeff wifegm

[Option ID = 11865]
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2. Teacher centeric/asnges Siegn

[Option ID = 11866]
3. Practice based/rER anenis

[Option ID = 11867]
4. Computer based/@wges anufa

[Option ID = 11868]

Correct Answer :-

e Student centeric/Feneif wfaga
[Option ID = 11865]

3) Read the following passage and answer the question,

Pedagogy as practiced today in the classroom is mostly a teacher-centred, input-output model, It entails inputs by the teacher, It envisages a prototype
output fn the learner, confined within the philosophy — ‘What is relevant for examination is relevant for education’. However, in the context of learning
in the constructivist framewaork, the ‘Desirability’ of Teaching-learning Process (TLP} consists of input by the learner leading to output by the learner. One
may call this the learner-centred input-output model. However, optimisation of TLP leading to maximization of meaningful learning cannot afford to
consider the teacher and the learner in iselation. Thus in ‘Ideality” the composite madel for TLP involves input by both the teacher and the learner
expecting a planned construction by the learner, This means the ‘Reality’ should help the ‘Desirability’ to approach the ‘ldeality’. We call this crucial
because through conclusive field study-based evidences constructivism advocates that; the learner constructs his/her knowledge, no learner enters a class
devoid of personal constructs (Alternative conceptions), and knowledge is constructed through a process of conceptualization, Thus to maximise
meaningful learning it is essential to know what are the contributing structures {inputs) the learner carries with him/her inta the classraom and using
which hefshe is going to construct new structures {output).
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How is output of teaching-learning visualized today?
forgror-arféretar o5 afcor &) adast I fiew =a 3 2T = 27

[Question ID = 2968][Question Description = S1_qSNz_PG_EDU_Q40]
1. Proto typefamersa

[Option ID = 11869]
2. Differential/fssT

[Option ID = 11870]
3. Societal relevance/ A geifesar

[Option ID = 11871]
4. Financially gainful/friF =u A auerErs

[Option ID = 11872]
Carrect Answer ;-
& Proto type/smr=q

[Option ID = 11869]

Topic:- Education_SH1_E

1) Among the following which relationship remains inconclusive?

forgaiteiliaa d 31 wia w11 Jeacer sifooiknr oom s 8 7

[Question ID = 2969][Question Description = $1_qSNz_PG_EDU_Q41]
1. Micronutrients are helpful in the cognitive development /3ga diwr g sl Reom 3 Serre 26 2

[Option ID = 11873)]
2. Malnutrition can impair cognitive development /gam afiemaras P 5 ailm &2 J5ar 8

[Option ID = 11874]
3. Eating breakfast is beneficial for cognition /e ween afésme @ B auerer &

[Option ID = 11875]
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| 4. Obesity has an association with cognition/#en & afésra 3 S 2
[Option ID = 11876]
Correct Answer :-
® Micronutrients are helpful in the cognitive development /3ga divr g aiécTemae Rrom 3 FERED 26 2
[Option ID = 11873]

2) Match List | with List |

List | IList Il

Concept ICharacteristic

A, People who live in individualist cultures|l. opposes Western approaches to the study of personality in non-Western settings

B. People who live in collectivist cultures [Il. tests Western ideas about personality in other cultures

C. The cultural-comparative approach (lll. value social harmony, respectfulness, and group needs

D. The indigenous approach V. value independence, competition, and personal achievement

Choose the correct answer from the options given below:

it -1 B 3t -l @ FRRm iR

et -| et -1l

ATCTETTEOT feroyerand

A S v eafepardt |31z ool =aren # =iftbra @ aRm © fe
ivepfer v B efécaston w1 Ridter wear ¥

B.= clior wgfe 1.3 Fizaplerii 3 safrpea @ aiy # a2pi = o1
Fiwasrt o vact & WA B

C.aizalam-gearas ||l ammbser apr, JFam iz Agg B siewdl @1
efteTstor S 3

D . zagell eftemion |IV.31\E*1 T, gierBi, iz sulvpera suafes

a1k o oo Repeal # 3 w16l 302 giene :

[Question ID = 2970][Question Description = $1_qSNz_PG_EDU_Q42]
1. A-ILB-HI,C-1¥,D-1

[Option ID = 11877]
2. A-IV,B-N,C-1l,D-I

[Option ID = 11878]
3. A-1LB-IL,C-,D-IV

[Option ID = 11879]
4. A-NL,B-IV,C-1,D-1l

[Option ID = 11880]
Correct Answer ;-
o« A-ILB-ULC-IV,D-I
[Option ID = 11877]

3) “Health is a state of complete physical, mental, and social well-being, and not merely the absence of disease or
infirmity.” This definition is from:

"Fare=1 Qui omdiiiEp, #Aeil¥ne Jiiz IEhnr e §, o R daa Al ar geoar B aguiai ' as o wel A ot erlt § 7

[Question ID = 2971][Question Description = $1_qSNz_PG_EDU_Q43]

1. World Health Organization /Frq = oo

[Option ID = 11881]
2. World Bank/freg &%

[Option ID = 11882]
3. American Psychological Association/ sgitare AsiRi=nsrs F2er

[Option ID = 11883]
4. World Federation for Mental Health/zmoies sarseer & fony fHe s

[Option ID = 11884]
Correct Answer ;-
* World Health Organization /Fra s Poer
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[Option ID = 11881]

4) Successful intelligence involves three different factors (i) analytical intelligence, (ii) creative intelligence, and (iii)
practical intelligence. This theory of intelligence belongs to:

Awd gl # die seet- 3keT o ontda 2 (i) Recamras gigam, (i) sascrs qige iz (i) coraatsr gl gigeaar o az g
fpamT 2 7

[Question 1D = 2972][Question Description = $1_qSNz_PG_EDU_Q44]
1. Howard Gardener/zme andas

[Option ID = 11885]
2. Daniel Goleman/Zbre =iicda

[Option ID = 11886]
3. Robert Strenberg/3fad w=ame!

[Option ID = 11887]
4. Carl Rogers/we e

[Option ID = 11888]

Carrect Answer ;-

& Howard Gardener/zme sidas
[Option ID = 11885]

5) Wechsler Adult Intelligence Scale helps in measuring:

dorcT: P gigadl #Alell Ream! ane A #ce il & 7

[Question ID = 297 3][Question Description = $1_qg5Nz_PG_EDU_Q45]
1. Intellectual abilities/d@itss amard

[Option ID = 11889)
2. Social intelligence /smwafirs gl

[Option ID = 11890]
3. Emotional intellipence/ smamas-gigar

[Option ID = 11891]
4, Multiple intelligences/as-gizarn

[Option ID = 11892]
Correct Answer -
e [ntellectual abilities/difsT smemd

[Option ID = 11889]

6) Regarding metacognition which statement is NOT correct?

ifdrswier o Fser & oot 71 wuer Af S § 7

[Question ID = 2974][Question Description = $1_qSNz_PG_EDU_Q46]
1. Metacognition is thinking about one's thinking. /atfisme , fodt 45 da o o & digen £

[Option ID = 11893]
2. Metacognition refers to the processes used to plan, monitor, and assess other’s understanding and performance. /afimm 3 e 301 QiR 3 € =i
Fistoll gotial 3t , [BERE S A AT gl Of e A goda o e S © B suden O wiFd &

[Option ID = 11894]
3. Metacognition includes a critical awareness of one's thinking and learning. /afémsme 3 Bt &t st fiz dhem & ssrage! st onfém &

[Option ID = 11895]
4. Metacognition requires students to externalize mental events. /3firAR @ gRI Bl @1 JHIRKE TedEl © 5 el © M@l gkl §

[Option ID = 118%6]

Correct Answer :-
& Metacognition is thinking about one's thinking. /asmer , Rrsdt & st o5 ard # e £

[Option ID = 11893]

7) Students create their learning based on their previous experience is the basic assumption of the;

B, AU al g & renT uz st foren o foafor = &

[Question ID = 2975][Question Description = $1_qSNz_PG_EDU_Q47]
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| 1. Constructivist learning theory /Joemact aifem Rga

[Option ID = 11897]

2. Behaviourist learning theory/=rEracd affrm  Brgit

[Option ID = 11898]

3. Cognitive learning theory/sseiras affem Rigia

[Option ID = 11899]

4. Humanism learning theory /semmrg sfrm  Bigit

[Option ID = 11900]

Carrect Answer ;-

& Constructivist leaming theory /ToemarEd afem Biga

[Option ID = 11897]

8) The concept of counselling is essentially:

et 6 smamn v Fa A E 7

[Question ID = 2976][Question Description = $1_qSNz_PG_EDU_Q48]

1. Democratic/ammmieas

[Option ID = 11301]
2. Autocratic/cesdd

[Option ID = 11902]
3. Individualistic feairmaet

[Option ID = 11903]
4, Humanistic/Arsaame]

[Option ID = 11904]
Correct Answer ;-
o Democratic/aammisge
[Option ID = 11901]
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9) The approach to counselling in which the therapeutic process is directed along lines considered relevant by the

counsellor is named as:

Fudler @ o o eftewinr Bed Rifdeosin giicen @1 gweet e g yRice ael swit /it & g Sl em s 3, oo s 3

[Question ID = 2977][Question Description = $1_qg5Nz_PG_EDU_Q49]

1. Non-directive counselling /st oo Iudicm

[Option ID = 11305]
2. Directive counselling/Bromrerr Fustaer

[Option ID = 11906]
3. Eclectic counselling/ Fcora? SUEKIT

[Option ID = 11307]
4, VYocational counselling/ =reaitms unmels

[Option ID = 11908]
Correct Answer :-
e Non-directive counselling/Siz-Beemers sudim
[Option ID = 11905]

10) Match List | with List [l

List |

IList I

A, Client-centred approach of counselling |I. Sigmund Freud

B. Psychodynamic approach of counselling |II. Ivan Pavlov

C. Behavioural approach of counselling

|III. Aaron Beck

D. Cognitive approach of counselling

|IV. Carl Rogers

Choose the correct answer from the options given below:

TRt -1 @ et Nl @ AR Eif

axeht -

et -l

A crerarot o1 Srarelf Bfeca eftemivn

|, B=dis wrRIS
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B. uzraref o1 Meilelicra zitemior 11, zarer grgaa
C. uzanel o1 REeRIcHAS Zitediur I, a3ier a6
D .ozl @ Hsieieaw eftcwion

IV, @it 3t

a1k o oo Repeal # 3 w16l 302 giene :

[Question ID = 2978][Question Description = $1_qSNz_PG_EDU_Q50]

1. A-1,B-U1,C-Nl,D-I¥

[Option ID = 11909]
2. A-1,B-1L,C-1V,D-I

[Option ID = 11910]
3. A-IV,B-1,C-1I,D- Nl

[Option ID = 11911]
4. A-NL,B-IV,C-1,D-11

[Option ID = 11912]
Correct Answer ;-
« A-|,B-U,C-NMN,D-1¥Y
[Option ID = 11909]
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11) Which of the following statements are correct?

A. Learning is a lifelong process

B. Learning is not possible without a teacher

C. Learning is enhanced through socially supported interactions.

D. Learning is enhanced through experiences

E. Learning is not possible without a school

Choose the correct answer from the options given below:

frrafedina A A oior A e ast £7
A. aftrora shasrada goe! acht gfiyar
B. st forerrs o &tz aftern dva oSt B

C. mawsr-wafia sim:Ryznei 3 sftremn # afighy ord 3

D. sropmall 31 siffera o afirafy &l 3
E. Remaa @ @51 sifPea #wa oift &

RrssiteiRaa Repeal 3 A w18 s 9ot ©

[Question ID = 2979][Question Description = $1_qSNz_PG_EDU_Q51]

1. A, Cand D only/dwae A, C3E= D

[Option ID = 11913]
2. A, B, Cand Donly/saa A, B, C diz D

[Option ID = 11914]
3. A,DandEonly/@?ae A, DAz E

[Option ID = 11915]
4, A, B, Cand E only/s5ae A, B, Ca E

[Option ID = 11916]

Correct Answer ;-
o A CandDonly/adwr A, CE D

[Option ID = 11913]

12) Curricula ought to emphasize providing students with a deep understanding of the important ............ of a discipline and

how they are organized.

urrreat @l fopsit fkien- e @&/6t ssraget -------

[Question ID = 2980][Question Description = $1_qSNz_PG_EDU_Q52]

1. Concepts/Foomari

[Option ID = 11917]
2. Facts/aedt

Mt ion I = 19193121

3itz Joreht rdisIot ity @ an # REnffl w1 swor 9181 gore @l Uz 51 Soll dIisg.
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| 3. Contents/fwzasg

[Option ID = 11919]
4. Theories /gt

[Option ID = 11920]

Carrect Answer ;-
® Concepts/Seeaaai

[Option ID = 11917]

13) The following are essential considerations for curriculum development. Arrange them in a sequential order
A. Formulating intended learning outcomes

B. Suggesting methods to accomplish intended outcomes

C. Assessing of characteristics and needs of learners

D. Analysing issue/problem /need

E. Identifying the important and relevant content

Choose the correct answer from the options given below
gl faera & efelian secaygri awil ©! oaar Joaalied o

A, anfiee al2EE ufwns 1 ITEg B
B. anfice afwnat &t qiffy & e [i2ril &1 gsma Sen
C. aftrrrealsl B smagaddaii iz fadradiadt @1 Jeaicor

D. @E1/ A/ Aragaddn fameyenr

E. atecaqul siiz geea faa-azg & gzae dwen
i R s1¢ faeseal I A 7é& 0z gol :

[Question ID = 2981][Question Description = $1_qSNz_PG_EDU_Q53]
1. A, B, C,D,E

[Option ID = 11921]
2. D,C, AEB

[Option ID = 11922]
3. A,C,D,EB

[Option ID = 11923]
4. D,B, A E C

[Option ID = 11924]
Carrect Answer ;-
« AR C,DE
[Option ID = 11921]

14) Given below are two statements

Statement I:  Tyler Model of curriculum is based on four main components: purposes, experiences, methods and
evaluation,

Statement II: Stake’s model of curriculum evaluation is based explicitly on the assumption that the concerns of the
stakeholders—those for whom the evaluation is done—should be paramount in determining the evaluation issues.

In light of the above statements, choose the most appropriate answer from the options given below

oIkl §1 were Ru s1w 3 &

werd - | @ uIRErRIl W1 TreeR disa ar JERT "ol U3 amentya 8 3dew, epm, [P s goaroe

wead - || @ urRrR IAcaine B FeaA Alsd FUR T A $H MRV W7 AEnhd & Kb Il sl gel <& fredwon 3 Batnwol- fers oo

IWRip DeEll @ el 3 foalatiaa faocal If 31 Ha2t JugEd 372 ol :

[Question ID = 2982][Question Description = $1_qSNz_PG_EDU_Q54]
1. Both Statement | and Statement [l are correct fosem | iz || S 52 &

[Option ID = 11925]
2. Both Statement | and Statement |l are incorrect/wem | sz 1| Sl 7o &
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[Option ID = 11926]
3. Statement | is correct but Statement Il is incorrect/ ey | 3¢ & , fireq e || sem & |

[Option ID = 11927]
4, Statement | is incorrect but Statement Il is correct/wem | 7o & , Ffoog wem || =2 &

[Option ID = 11928]

Carrect Answer ;-

& Both Statement | and Statement |l are correct/marm | Fiz || Sl w8 &
[Option ID = 11925]

15) Given below are two statements

Statement |I: ADDIE model of instructional design is an acronym for the five phases: Approach, Design, Development,
Implementation, Evaluation.

Statement ll: Remembering, Understanding, Applying, Analysing, Evaluating, and Creating are core components of Bloom’'s
taxonomy of learning objectives.

In light of the above statements, choose the most appropriate answer from the options given below

oIl §1 werer Ry s1w 3 &

el - | amcenva Jlireou w1 ADDIE disa ur wevil- ogie, RBendat, 3acudic, secildicen, saoyuen- W YHAISE &.
wera - | @ Foewn, swEen, sepgier, Rrcuwn, Jcwitsot 3iiv Fomet e a2edl © soga asiikont © HE aco 8.
I R=fTr el & ks 3 foreifilan kepoal d A waiffcr IORps 902 el :

[Question ID = 2983][Question Description = $1_qSNz_PG_EDU_Q55]
1. Both Statement | and Statement |l are correct/mar | Az || Seil e &

[Option ID = 11929]
2. Both Statement | and Statement |l are incorrect/mam | A 1 S50 siem &

[Option ID = 11230]
3. Statement | is correct but Statement Il is incorrect/wem | 7 2 |, Foeg e [l sem 2 |

[Option ID = 11931]
4. Statement | is incorrect but Statement |l is correct/wem | slam 2, Roog o || 38 2

[Option ID = 11932]
Correct Answer ;-
® Both Statement | and Statement [l are correct/memer | #i7 || Soil ==t &

[Option ID = 11929]

16) Books, cinema, television, radio, newspapers and computers are termed as:
grest, Rreran, 2ciifdsa, 3R:h i woeed o we s 3

[Question ID = 2984][Question Description = $1_qSNz_PG_EDU_Q56]
1. Traditional media/ukulir #Hifzn

[Option ID = 11933]
2. Instructional media/ smoncrr =

[Option ID = 11934]
3. Teaching media/ismsmr fEn

[Option ID = 11235]
4. Social media/zoe sifz=n

[Option ID = 11936]

Correct Answer ;-
& Traditional media /oy d@ifzn

[Option ID = 11933]

17) Following are the steps to curriculum change, Arrange them in a sequential order,
A. Re-examine the links between goals and course design

B. Gather data

C. Brainstorm the major issues and available information

D. Formulate, deliberate, and assess possible reform models

E. Analyse current teaching practices and learning goals

Choose the correct answer from the options given below
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aicrrerat af¥adsr @ sl ol o waar Feaiiada o

A. Tzl iz uigrrapA Jlipou B gerdian

B. S sog1 wen

C. @& HEl 3fiz Fucieas 6l U3 #2ml

D. ssnfert st #Hisdl @1 Ygv1, KRl i Jgoarse won
E. gufem f2rg1or ussuemail afiz sl ag=al @ frosaur

ol f8u a1e fRepedl d A w16l S0 gl ¢

[Question ID = 2985][Question Description = $1_qSNz_PG_EDU_Q57]
1. A,B,C,D,E

[Option ID = 11937]
2. B,C,D,E, A

[Option ID = 11938]
3. E,A,B,C,D

[Option ID = 11939]
4. D,E, A, B, C

[Option ID = 11940]
Correct Answer ;-
« A B C,0,E
[Option ID = 11937]

18) Which is NOT an example of curriculum change?

fBreaiferfia 3 | wior aroaxat ufvadsr o1 3gsror ofl 37

[Question ID = 2986][Question Description = $1_qSNz_PG_EDU_Q58]
1. Introduction of a new degree program /ew = it dem o1 gaxda

[Option ID = 11941]
2. Introduction of a new subject/wd o e @01 yavia

[Option ID = 11942]
3. Change to or within a subject /Rt e # o 350 sire afsrda

[Option ID = 11943]
4. Upgrading the educational resource centre /a1 JEmmm @0 01 Joard

[Option 1D = 11944]

Correct Answer :-
& [ntroduction of a new degree program /o e Bt e o1 wda

[Option ID = 11941]

19) Given below are two statements
Statement I Comprehensive, content-rich curriculum is a common feature of academically high-performing countries.

Statement ll: The impact of high-quality curriculum can be significant and matters most to achievement in the lower level
of schooling.

In light of the above statements, choose the most appropriate answer from the options given below

o) & oot Re sre ¥ :

wet -~ | 1 s i Riga Rraer-aeg archt aigaraat sreclis sa 3 3ca orl Broargar s ad a6 e Ridiaar 3,
weret - || @ I s arcll urgRrerRl Asraygul 3t Iendl & sfiv Fapltier & hrr Far e gualRer 3 s Jaifice #ige &,
IiTr wuell & ks 3 orwiilRan kepoal 3 A sl Iu=gs 302 9ol ©

[Question ID = 2987][Question Description = $1_qSNz_PG_EDU_Q59]
1. Both Statement | and Statement [l are correct/mem | & || S =t &

[Option ID = 11945]
2. Both Statement | and Statement [l are incorrect/mam | i 1] S som &

[Option ID = 11946]
3. Statement | is correct but Statement Il is incorrect/wem | 7 2 , Foeg e |l s 2 |
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[Option ID = 11947]
4. Statement | is incorrect but Statement |l is correct/wem | som 2, Roog e || 38 2

[Option ID = 11948]
Correct Answer ;-
® Both Statement | and Statement [l are correct/wemr | < || Joif =kt &

[Option ID = 11945]

20) Given below are two statements

Statement I:  Curriculum studies as a field of research deals with questions found at the point of intersection between an
area of activity or knowledge, and education, teaching, learning and socialisation.

Statement ll: Curriculum studies is understood as both a disciplinary and an interdisciplinary field of study
In light of the above statements, choose the most appropriate answer from the options given below

skl §1 werer Ry s1w 3 &

el - | | e IopHtet 81 B 4 # woRrerl ERRTa Kol Ripcoera srerar smot i sfiz (915101, sigamae, AifEEI den Aaniau @ gidrdge
feig uz gra gedl 3 HdRET 8 3.

@era - 1l ; argera=ft aizRIer ol AtRIe © s iz siafduers 8 Sicll Jarsn a2,
IWRp el @ Ao 3 foaifatian faoeal 3 3t Faiffle 3ugrd 3z gol :

[Question ID = 2988][Question Description = $1_qSNz_PG_EDU_Q60]

1. Both Statement | and Statement [l are correct/wem | AR Il giel =&t &

[Option ID = 119249]
2. Both Statement | and Statement |l are incorrect /mem | #iz || 6l s &

[Option ID = 11950]
3. Statement | is correct but Statement Il is incorrect/wem | a8 2, Reog wem || owm € |

[Option ID = 11951]
4, Statement | is incorrect but Statement Il is correct/wem | 7o & , Ffoog wemr || =2 &

[Option ID = 11952]
Carrect Answer ;-
& Both Statement | and Statement [l are correct/Fam | Sz |l G =8 £

[Option ID = 11949]

21) Which study points to the fact that human brains treat each word as an image, which needs to be decoded before
being processed for meaning?

a1 areerTer 3 T3 a ol 2z Hdha fopen S 2 s aiera Ao gRia 9fee ®t Ul R @ 4 3 s wrar & fare aref & foe i fisdr
st @ gd Reisfir o 6t smaeaom usdt 37

[Question ID = 2989][Question Description = $1_qSNz_PG_EDU_Q61]
1. Neurclogical Studies/AffreT Hdd sprrm

[Option ID = 11953]
2. Psychological Studies/#eiasiers e

[Option ID = 11954]
3. Physiological Studies/sHisRmmers srermE

[Option ID = 11955]
4. Communication Studies /S e

[Option ID = 11956]

Correct Answer ;-

# Neurclogical Studies/dfwT Fwdt srawmm
[Option ID = 11953]

22) Presentation slides are most suitably meant to be-

Qaiterer Fonsga wr walffry o smery 3-

[Question ID = 2990][Question Description = $1_qSNz_PG_EDU_Q62]
1. Atranscript /oo gifctss

[Option ID = 11957]
2. A visual aid/ex o9 JCRE AL



wWww.prepp.in .repp

Your Personal Exams Guide

[Option ID = 11958]
3. Alearning support/ues aifiem Jarmr

[Option ID = 11959]
4, A teaching support /= Bem SR

[Option ID = 11960]
Correct Answer ;-
& A transcript /o oicEr
[Option ID = 11957]

23) According to Kolb (1984), match the learning style with their respective characteristics as given in List | and List [l

List | lList 1l

Learning Style ICharacteristics

A, Accommodators |I. Real life experience and discussion
B. Converger |II. Theories and facts

C. Diverger 1. Hands-on learning

D. Assimilator |IV. Hands-on learning and theory

Choose the correct answer from the options given below;

et -1 J & o affrera diferal @t et -1l /i Re sg abirageil A wica (1984) @ sropae gaftm G

apeht -l (affrerar dieht) et -1l (aifdrersron)

A, FAARIID |, Sfiaemepma iz maf

B. afSpromran . Brgia ofiz asx

C. argmrét 11, gr=agr se=asm afderar

D. weisre IV, grag seaau affem 307 Brgia

ofta v =1 Rwseal 3 7 A saz ofew :

[Question ID = 2991][Question Description = $1_gqSNz_PG_EDU_Q63]
1. A-IV,B-I,C-1,D-10

[Option ID = 11961]
2. A-NL,B-1,C-1¥,D-Il

[Option ID = 11962]
3 A-LB-NLC-I,D-1¥

[Option ID = 11963]
4. A-NL,B-1I¥,C-1,D-1l

[Option 1D = 11964]

Correct Answer ;-
« A-IV,B-ILC-1,D-1I

[Option ID = 11961]

24) An Educational technologist is concerned with ;

A. Designing instruction

B. Producing instructional materials

C. Managing instructional computing services or learning resources collections
D. Applying theories of cognition and research to utilize technology for the benefit of the learner
Choose the correct answer from the options given below;

gigiire Qrenferhlide o1 Fder giar 2 :

A, sifirpeu ageer 2

B. sfgIconcare AR AU &l A

C. agieonca® ulsodel Barill & gderar seran AP Hartrel JHocell 3T

D. aRppreal & anned glenfirb geier & fore argiens sitz afirme Brgidl @ sepger 3
i Ru s1e famscal 3 2t 718t Iz gol ©

[Question ID = 2992][Question Description = S1_qSNz_PG_EDU_Q#64]
1. A,Band Conly/@ma A, Bz C

[Option ID = 11965]
2. B, Cand D onlyf@am B, Caie D

IOntion ID = 11966]
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| 3. A,Cand Donly/@aer A, Cafe D

[Option ID = 11967]
4. A,B,CandD al/Pux A, B, C iz D

[Option 1D = 11968]

Carrect Answer ;-

® A BandConly/dmm A, Batz C
[Option ID = 11965]

25) Which of the following is not a platform for MOOCs?
formfeaa & 3 ota MO0Cs @1 v wiewid adl 37

[Question ID = 2993][Question Description = $1_qg5Nz_PG_EDU_Q#65]
1. SWAYAM/zod

[Option ID = 11369]
2. SWAYAM-PRABHA/ mR-gan

[Option ID = 11970]
3. edX/edX

[Option ID = 11971]
4. Blackboard/sdeeE

[Option ID = 11972]
Correct Answer ;-
o SWAYAM/ =i
[Option ID = 11969]

26) Which of the following is not a component of 'System Approach'?
ottt 3 | wior "Brecw ogia’ oy e acws ofl 37

[Question ID = 2994][Question Description = $1_gqSNz_PG_EDU_Q66]
1. Feedback/S=3w

[Option ID = 11974]
2. Web Network/da deg®

[Option ID = 11973]
3. Input/seme

[Option ID = 11975]
4. Process/uRm

[Option ID = 11976]
Correct Answer :-
s Web Network/da s
[Option ID = 11973]

27) Asynchronous Learning approach does not include :
IR aftea supa 3 fopataiiaa # 3 o= enfira oY 2var 37

[Question ID = 2995][Question Description = S1_qSNz_PG_EDU_Q67]
1. Communication /e

[Option ID = 11977]
2. Collaboration/sESEHt

[Option ID = 11978]
3. Content Hosting/ fa=r-axg acism

[Option ID = 11979]
4, Mathetics/sftem Fema (#8RT)

[Option ID = 11980]
Correct Answer :-
& Communication /simen

[Option ID = 11977]

28) An instructional system that teachers can use to develop lesson plans which integrate the use of technology and media
is known as :

a8 Aojooncad quiell farsrent geiier fdrgte] et Qenf3rdhl sz AMifaen & rdifesa geieT ardl urs el ol oot i fioen o1 I 2 ;
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[Question ID = 2996][Question Description = $1_gqSNz_PG_EDU_Q68]
1. Dick and Carey Model/ R oo 35 #iser

[Option ID = 11983]
2. Synchronous Learning Model/szmfers afteny Afsa

[Option ID = 11984]
3, ADDIE Model/ADDIE st

[Option ID = 11981]
4. ASSURE Model/ASSURE sizer

[Option ID = 11982]

Correct Answer ;-
* ADDIE Model/ ADDIE #isea

[Option ID = 11981]

29) BigBlueButton is :

feTegEea &

[Question 1D = 2997][Question Description = $1_qSNz_PG_EDU_Q69]
1. Web Conferencing System & Synchronous Learning Tool/da ssidfdsrgmelt iz szt affem agesn

[Option ID = 11985]
2. Web Conferencing System & Asynchronous Learning Tool/da widiisged £ semricrr aifem swoon

[Option ID = 11986]
3. Learning Management System/afiem qEaw goned

[Option ID = 11987]
4. Recording & Editing Software Tool/fepiE s suee 3eds swom

[Option ID = 11988]
Correct Answer ;-
* Web Conferencing System & Synchronous Learning Tool /& ssibREerqunelt iz Jewftns siffme g

[Option ID = 11985]

30) Podcast and Vodcast are useful for students with :
A. Dyslexia

B. Visual impairment with severe mental impairment
C. Severe mental impairment

D. Sound health

Choose the correct answer from the options given below:
dismrt iz dsmee oo A & e su=eh &

A, Uoorieea A I

B, eftcarf?ia siiz sz similice weviar 31 apfin

C. siflz swreafirs ssurr A spfia

D, zazu

oifer fow are femsedl 3 3 Adl 3nz 9o ¢

[Question ID = 2998][Question Description = $1_qg5Nz_PG_EDU_Q70]
1. Aand Bonly/@am Az B

[Option ID = 11989]
2. Aand Conly/dma Adz C

[Option ID = 11990]
3 Aand D only/®aa A&z D

[Option ID = 11991]
4, A, Cand Donly/awmr A, CE D

[Option ID = 11992]

® AandBonly/@aa Az B
[Option ID = 11989]

31) Which of the following factors resist Social Change?

A. Cultural Inertia
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B. Fear of New Things

C. Scientific Invention

D. Physical Environment

E. Degree of Isolation

Choose the correct answer from the options given below:

raaiteil3aa 4 3 wia A oro Fenice abyads o gikien o 37

A. AFGRRD sIsar
B. sidiat <ilsll w1 w7
C. dsubrp snfm<sr
D. siiferp ufsiar

E. germmaur @1 ¥
a1 1o s1e Repedl # 31 718 @ wa ¢

[Question ID = 2999][Question Description = $1_qg5Nz_PG_EDU_Q71]
1. A, B and C only/dam A, B aiz C

[Option ID = 11993]
2. A,Band Donly/@ma A, Bz D

[Option ID = 11994]
3. A,Band E only/ame A, B iz E

[Option ID = 11995]
4, A, CandEonly/sam A, C 3z E

[Option ID = 11996]
Correct Answer :-
o A BandConly/dam A, B iz C

[Option ID = 11993]

32) Match the Book given in the List | with their respective Author given in the List li

List | IList 1
Book Author
A. Karma Yoga [l. M. K. Gandhi
B. Women and Evil I, $ri Aurobindo
C. Ethical Religion |III. Swami Vivekananda
D. Synthesis of Yoga Iv. Nel Noddings
V. J. Krishnamurthy

Choose the correct answer from the options given below:

a5t -1 Bt gt B e -1l D Azt 3 JARE HiR

aredt -l ieig]!
gFaay orEs
A. at =iet [l war. a5 arieft
B. d9ker 95 ¢Ra 1. oft snfict
C. oftrpa fdfiraret 1l Fanh Raosec
D. Ridfim sifw Aden IV. olc1 silfsw
V. a1, yoomagfc

s fon oo Repedl 3 3 318l 302 gfone :

[Question ID = 3000][Question Description = $1_qSNz_PG_EDU_Q72]
1. A-ULB-IV,C-1,D-1

[Option ID = 11997]
2. A-ILB-NLC-1,D-1¥

[Option ID = 11998]
3. A-M,B-IV,C-V,D-1l

[Option ID = 11999]
4, A-1,B-II,C-I¥,D-V

[Option ID = 12000]

Correct Answer ;-
o« A-NIILB-IV,C-1,0-11

[Option ID = 11997]
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33) "Power as the central feature of society rather than thinking of society as held together by collective agreement
concerning a cohesive set of cultural standards as functionalists do” The statement indicates towards which of the following
theories?

" Hirplice Aol & Te HAW JAPr & Ha 3 yoriak) B yor FarmE o AiEe Heafa A A Alld 8, Iudt s 9lfts ©f 33 &
Daar Rdam areen, I U BeaikiRaa # 3 Rea Rigia Ot i sBm o 37

[Question ID = 3001][Question Description = $1_qSNz_PG_EDU_Q73]
1. Social Movement Theory/ JPnSEs o g

[Option ID = 12001]
2. Conflict Theory/siod Rigia

[Option ID = 12002]
3. New 5ocial Movement Theory /orflar Tt Jacm Rigi

[Option ID = 12003]
4. Political Process Theory/ saifefaes g Bagia

[Option ID = 12004]

Correct Answer :-

e Social Movement Theory/apuferr sxrTer Bipikt
[Option ID = 12001]

34) Match the School of Philosophy given in List | with the respective Metaphysics given in List Il ;

List | IList I

School of Phil h
Bl i Metaphysics

A, ldealism Il. The world is "characterised throughout by process and change”

B. Realism II. The cosmos is made up of humber of entities having various relations to one another and various
' ualities

C. Naturalism |III. A surrounding world which is spiritual

D, Pragmatism |IV. Nature in terms of process rather than either substance or structure

Choose the correct answer from the options given below:

it -| 3 6t o1F cofe ermarati wt 4l -1 3 &t o ara-slen 3 Fafoa i :

-l R -l

colar  onEn [Fea- A

A, ;

o |. sise & "y siie afyader saa fgaa 36 8"

B. I, gEnvs 2orp aedl 3 e @ 9o & e oo oY © J1Y A6

wenefarg e ity wok ot E

C.
n. gferdelt dane sneadRares ar 3
gepfear =

Dt
erdarzar; IV, agref A Fzeoen &l aErT Yon @ Hood 3 gaid

iy Rw o1e faseal % 31 At 3w gfew

[Question ID = 3002][Question Description = $1_qSNz_PG_EDU_Q74]
1. A-NLB-1,C-¥,D-1

[Option ID = 12005]
2. A-1LB-N,C-1,D-I¥

[Option ID = 12006]
3. A-NLB-L,C-1,D-1¥

[Option ID = 12007]
4. A-1,B-1I,C-IV,D-1l

[Option ID = 12008]
Carrect Answer ;-
 A-NLB-I,LC-1V,D-1

[Option ID = 12005]

35) Arrange the following in order according to the Eight Limbs of Yoga :
A, Niyvama

B. Asana

C. Dhyan

D, Pranayama
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E. Pratyahara
Choose the correct answer from the options given below
JETial el @ g fororfifiaa o wdt o o 8 ¢
A, o
B. atrzror

C. tara

D. gmrara
E. graEr
i 2w s1e famscal 3 2t 8 Iaz gol ©

[Question ID = 3003][Question Description = S1_qSNz_PG_EDU_Q75]
1. A,D,C, B, E

[Option ID = 12009]
2. A, B, D,EC

[Option ID = 12010]
3. A,D,B,EC

[Option ID = 12011]
4. C,E, B, A, D

[Option ID = 12012]

Carrect Answer ;-
s A D CBEE

[Option ID = 12009]

36) 'Mind is merely a function of the brain, an overtone accompanying bodily activity. It is an onlooker at events, never
influencing them' belongs to :

"Hel Al o1 dad o Ubr! 8, a omiiye fiprmaad! &1 was siftrarar 8. 218 oreonsil o1 gofds 2t 8, 308 it qanfaer o1t aozan’ @1E faoaa

[Question ID = 3004][Question Description = $1_qSNz_PG_EDU_Q7é]

1. Parallelism/ammeng

[Option ID = 12013]
2. Interactionism /iR

[Option ID = 12014]
3. Epiphencmenalism /sulruems

[Option ID = 12015]
4. Absolutism/gsmg

[Option ID = 12016]
Correct Answer ;-
® Parallelism/spireas

[Option ID = 12013]

37) The Preamble of our Indian Constitution has a sequence of :
A, Justice

B. Equity

C. Equality

D. Fraternity

E. Liberty

Choose the correct answer from the options given below
SHY iEd o Afens A Praforaa o ow 3 :

A. s

B. waan

C. FaEa

D. dggra

E. sadogan

ofta e =10 Reseal 3 A 78 s gdl ¢
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[Question ID = 3005][Question Description = $1_gSNz_PG_EDU_Q77]
1. A, E,C,D

[Option ID = 12017]
2. A B, E,D

[Option ID = 12018]
3, A C,DE

[Option ID = 12019]
4. A E,D,C

[Option ID = 12020]
Correct Answer ;-
« AEC,D

[Option ID = 12017]

38) Stratification in society is based on-
HATS # Fasteszur amenfyea 2 3-

[Question ID = 3006][Question Description = S1_qSNz_PG_EDU_Q78]
1. Power, Property and Prestige/sfes, gftr iz gt g

[Option ID = 12021]
2. Culture, Caste and Class/ <, anfy ofiv @i o

[Option ID = 12022]
3. Education, Earning and Empowerment /g, o 3tz sefoman gz

[Option ID = 12023]
4. Motivation, Mobility and Material possession/iqzen, sfesflery e iiftms wal o2

[Option 1D = 12024]

Carrect Answer ;-

& Power, Property and Prestise/wffr, Foftr siis offmer oz
[Option ID = 12021]

39) “What we want is progress, development, realization. No theories ever made human being higher. No amount of books
can help us to become purer. The only power is in realization and that lies in ourselves and comes from thinking. Let Human
Being Think!” is a statement of :

&1 geIt, Ko afiz s aea 2. Rosdt oft Brgia o s @t acame oidl aarn 2. Reael 9t gt uea 3 o Az aftre aftng @dt @
1. Ub Ak o1ftb a1l di ekt & afiz as a7 gl foiféa € siie Riner 3t qia 2l &, sopea @1 Rivia owa g1l e Roaet ook 27

[Question ID = 3007][Question Description = $1_qg5Nz_PG_EDU_Q79]
1. J. Krishnamurthy /& sgeomgief

[Option ID = 12025]
2. Rabindranath Tagore/sfirmgeme &1z

[Option ID = 12026]
3. Mahatma Gandhi/ aeren =il

[Option ID = 12027]
4, Swami Vivekananda/=mwl Rirveis

[Option 1D = 12028]
Correct Answer :-
o ). Krishnamurthy /<l et
[Option ID = 12025]

40) Which of the following statements is not correct in case of "Wollstonecraft'?
‘AicTeloRnne. @ Hatl 3 bisclciRan et d A wia 1 o 3115t a8l 37

[Question ID = 3008][Question Description = $1_qSNz_PG_EDU_Q80]
1. Wollstonecraft was an English writer, philesopher and advocate of Women's Rights. /dicedisrome vwer sBa tiwww, sl dir aitor aFoorl © HEroe 4.

[Option 1D = 12029]
2. Wollstonecraft is regarded as one of the founding feminist philosophers. /Siesdamee B! aEfics adiach sifere] 3 3 v Ao s &

[Option ID = 12030]
3. Wollstonecraft's first sole-authored book is 'Caring: A Feminine Approgch to Ethics and Moral Education’/ diosciemme &t usel seiel-IRm garas Satien i
diffifera ey ¢ elirr vz Al vy &

[Option 1D = 12031]
4. The majority of Wollstonecraft's early productions are about education. /dr=dermme ot afimet ARhRE Foeg fier ZiEg:d £

[Option ID = 12032]

Correct Answer ;-
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» Wollstonecraft was an English writer, philosopher and advocate of Women's Rights, /deriomgee v aifE o, Sisliioes dix af2er afdeen & T3 a.
[Option ID = 12029]

41) Education was brought into the Concurrent list by

iR & 3 Ry SR o ot w7 2 oen sen?

[Question ID = 3009][Question Description = $1_qg5Nz_PG_EDU_Q81]
1. 415 Amendment of the Constitution/41at Fifemm Zoiiem

[Option ID = 12033]
2. 42r Amendment of the Constitution/ 42 ifizmer Zstiem

[Option ID = 12034]
3. 437 pAmendment of the Constitution/43ar Fifena Fotem

[Option ID = 12035]
4. 44t smendment of the Constitution/ 44w sifftersr Seilem

[Option ID = 12036]

Correct Answer :-
o 41% Amendment of the Constitution/41« wfiene sisiiewr

[Option ID = 12033]

42) A group of institutions had invested Rs 200 Cr in the year 2010 to improve the Learning Outcomes of their students, In
order to know whether the investment has vielded the desired results, the group should perform :

fasaht wivers wgs o ad 2010 3 sraa) RenBlal @ sl gftreal & geny © e 200 oAz S92 o Braer Bar. as sneet @ e B g
forerer < aifesa awlliar QA e &, 91 @I foldafian d A o1 oren wfdn?

[Question ID = 3010][Question Description = $1_q5Nz_PG_EDU_Q82]
1. Cost benefit Analysis/cERT oma Romam

[Option ID = 12037]
2. Tangible benefit Analysis/ @t cusr fieduor

[Option ID = 12038]
3. Intangible benefit Analysis/ st oo Fedao

[Option ID = 12039]
4, Cost effectiveness Analysis/mmewT gaidoen Eedaor

[Option ID = 12040]
Correct Answer :-
o (Cost benefit Analysis/ows oo Rrdam
[Option ID = 12037]

43) Which of the following curriculums is more susceptible to political influence?
Brraftifiaa 3 A wier 1 agerrd Feeiftrr gur A afiis gufRa 2k 37

[Question ID = 3011][Question Description = $1_gSNz_PG_EDU_Q83]
1. Higher Education curriculum/s=ae e woeerel

[Option 1D = 12041]
2. School Education curriculum/ Remerit 2 ueerrit

[Option ID = 12042]
3. Vocational Education curriculum,/mmrenfiry e et

[Option ID = 12043]
4. Teacher Education curriculum/ s feaon ueerrn

[Option 1D = 12044]

Correct Answer :-

« Higher Education curriculum/srerz f3mn axyrmd
[Option ID = 12041]

44) The primary belief of Existentialism is :
af¥raare @1 g fae 8

[Question 1D = 3012][Question Description = $1_qSNz_PG_EDU_Q84]
1. Essence precedes Existence/arg af¥are 3 ugdr aner £

[Option ID = 12045]
2. Action precedes Intuition/Foen sz 3 ua awdt £

DOption 1D = 12046]
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[ 3. Intuition precedes Action/ sz g 31 gacr andf &

[Option ID = 12047]
4, Existence precedes Essence/sifira mea 3 usd aeT &

[Option 1D = 12048]
Correct Answer :-
# Fssence precedes Existence/ors af¥aea 31 weor anar £

[Option ID = 12045]

45) The concept of Latent Learning was advocated by :
=rp At Gt araarzen O ugr i Roam oo an?

[Question ID = 3013][Question Description = $1_qg5Nz_PG_EDU_Q85]
1. Piaget/RKrmx

[Option ID = 12049]
2. Tolman/<rda

[Option ID = 12050]
3. Hull/z

[Option ID = 12051]
4. Bloom/wH

[Option ID = 12052]

Correct Answer ;-

e Piagel/frmst
[Option ID = 12049]

46) A history teacher arranged a visit of students to local historical monuments, while teaching Ancient Indian architecture.
This is an example of ;

urdiar sndier remura uge! @ S v sfier Biers o ekl & R Fueia fmbice sanal & ypmn & <meen 6. @z Igwar

[Question ID = 3014][Question Description = $1_qg5Nz_PG_EDU_Q86]
1. Activity based teaching /Prroon AEnfsT fRrmr o

[Option ID = 12053]
2. Experiential teaching/smosiRrr s wr

[Option ID = 12054]
3. Blended teaching/BiissT Biam o

[Option ID = 12055]
4, Project based teaching/ubdei=on snenfer foramn w1

[Option 1D = 12056]

Correct Answer -

® Activity based teaching /fmarpema smenfs B mr
[Option ID = 12053]

47) The family of models which is more concerned with intellectual skills and acquisition of knowledge by the students :

as gftrea afyar sit Renfelal © ditye oo i sensier 31 siftrs Fafda 8 :

[Question ID = 3015][Question Description = $1_gSNz_PG_EDU_Q87]
1. Behaviour modification Family/=mezr ul¥wrie e

[Option ID = 12057]
2. Social interaction Family/smnfrs ke affae

[Option ID = 12058]
3. Information processing Family/ swmen g otz

[Option ID = 12059]
4. Personal Family/dIire uiras

[Option ID = 12060]

Correct Answer :-

e Behaviour modification Family/=ren adirl obas
[Option ID = 12057]

48) The major contributor to the theory of communicative reason and communicative rationality was :

HUHUIICHD o 3iiz AYEUIas afdear Rigia 3 gapm deriersal & |
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[Question ID = 3016][Question Description = $1_gSNz_PG_EDU_Q88]
1. Habermas/ e

[Option ID = 12061]
2. Allan Luke /et oqs

[Option ID = 12062]
3. Deng -Xiao- Ping/3e=r fransh fer

[Option ID = 12063]
4. Schulman/gediter

[Option ID = 12064]

Correct Answer ;-
e Habermas/Zwesms

[Option ID = 12061]

49) In a Sccialist economy, the aims of education, curricula and methods of teaching are determined by
A. welfare of the society

B. market forces

C. democratic ideals, secularism, modernisation

D. social reforms and national development

E. aspiration of private stakeholders

Choose the correct answer from the options given below;
fesalt AFTsaret areferaren 3 faren &5 @1, argererRd aitz forgmon faftrny ooty axft 2

A. HHE woanr #

B. arsny @t arfvpea #

C. crwaBaw agell, enifrdsi, wefeBiowr 3
D. wenBrr genst iz 7sdk R A

E. forst Racnvasi &5t srasianaii

ofta e =10 Reseal 3 A w8 s gdl ¢

[Question ID = 3017][Question Description = $1_qSNz_PG_EDU_Q89]
1. A, B, D only/

wael A, B, D

[Option ID = 12065]
2. A, C, Donly/dam A, C, D

[Option ID = 12066]
3. B, C, Eonly/@aa B, C, E

[Option ID = 12067]
4, C,D,Eonly/@aa C, D, E

[Option ID = 12068]
Carrect Answer ;-
e A B, Donly/

dger A, B, D

[Option ID = 12065]

50) Recommendations by the Secondary Education Commission (1952-53) regarding teachers training were
A. Two types of institutions for teacher training

B. Training colleges should conduct research work

C. Teacher Training colleges should charge fee from the students

D. Residential facilities for teacher trainees

E. Admission for masters degree in education for graduates in any discipline

Choose the correct answer from the options given below:



wWww.prepp.in

erRnt W wry A weafices g smeer (1952-53) & Rroiiydl off

A. areemoer gfdngor & v St bR © dvema

B. gfdrgior ssiidencr w1 o1l€r DRl Jaicr Gl algw.

C. sezmen gfdrzior ssifieneri @1 ReEnkRl vz 9w genba ween @midn
D. sreemars Yidiggeii o e smarsi= Fiemd

E. Rpzit of frerr @ soirernt @ ferw 1215101 3 JomawplnR 3] @ fore sirmot
oifa) fev oo fompedl 3 3 71t e ool @

[Question ID = 3018][Question Description = $1_qSNz_PG_EDU_Q90]
1. A, B, Donly/ame A, B, D

[Option ID = 12069]
2. B,C, Donly/ssaan B, C, D

[Option ID = 12070]
3. A,C, Eonly/@aa A, C, E

[Option ID = 12071]
4, A, B, Conly/gmm A, B, C

[Option ID = 12072]
Correct Answer ;-
o A B Donly/asac A, B, D

[Option ID = 12069]

51) The courses hosted on SWAYAM platform have
A. video lectures

B. self-assessment tests

C. credit transfer for all learners

D. offline discussion forums

E. exclusively prepared reading material

Choose the correct answer from the options given below:
Tl Wewid u¥ suaeer agagAl i Slan 3

A. RSN wreRe

B. Fa-yeaiwa aisor

C. w3t silfeeroaia & Re € Rl

D. sifpersa =t #ig

E. oo wu 3 dmme &t =1 uoa Fael

ofia on =1e Repeal d A wf s ga ¢

[Question ID = 3019][Question Description = $1_qSNz_PG_EDU_Q91]
1. A B, Donly/ama A, B, D

[Option ID = 12073]
2. B,C, Donly/ssaan B, C, D

[Option ID = 12074]
3. B,C, Eonly/@wa B, C, E

[Option ID = 12075]
4. A, B, E only/daer A, B, E

[Option ID = 12076]
Correct Answer ;-
e A B Donly/aac A, B, D

[Option ID = 12073]

52) The objectives of induction training of teachers are ;-

A, to acquaint them with general & specific duties and responsibilities.

B. to acquaint teachers with school organisation and its policies

C. to develop skills and attitudes responsive to emerging national development goals and programmes

Tl g Gm i g Ry A R g T e D e g L g i T e g sy g s o e SR T s T el s mI e g g T

prepp
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E. to develop teaching skills and impart content knowledge

Choose the correct answer from the options given below:

Rreresi @ qadder gfdraror wr 320 3 @

A. oril Araew wd Rt wer sy saveRa @ af¥Re ween

B. forarsi ot Renerdier Woroar wd 3! el A affRra wwen

C. arfter arsdier Rreorar cigel sie wkpAl @ it siafRpzeiia wleral shiz warasr! o R
D. 3orpl FFen ¥ Iuciesl JUTGIvl , HEAE Al gkiensi D FEenygiel wIei

E. faramn wivra i fraa-asd o1 S0 Yo @361

oifl fon oo Repedl 3 3 #1832 9ol

[Question ID = 3020][Question Description = $1_qSNz_PG_EDU_Q92]
1. A, B Conly/@ma A, Bafis C

[Option ID = 12077]
2. A, B, Donly/@aa A, B afiz D

[Option ID = 12078]
3. B,C, Eonly/@ua B, CamE

[Option ID = 12079]
4, C,D, Eonly/ssma C, DSfiv E

[Option ID = 12080]
Correct Answer ;-
o A B .Conly/dmaA, BaizC
[Option ID = 12077]

53) Match List | with List Il

List | List Il

Education Commission Chairpersons

A. University Education Commission|l. Dr. D. S. Kothari

B. National Knowledge Commission [Il. Sam Pitroda

C. Education Commission ll. Dr. L. Mudalivar

D. Secondary Education Commission|lV. Acharya Ram Murthy
V., Dr. Radhakrishnan
Choose the correct answer from the options given below:

TR -1 @ et -1l B AR Hif

it - et -1l
farem smedisT i b
A. frafaenes e arRieT |, 3i 31 v ®lordt
B. wrefler siror ameiey 1. i forgist
C. fdreir ariet Il, 3i ca geferaz
V. smared s afet
D. smezifies  frgm amRier 4
V. 3 atmpeue

oY R a1 famedl & A a1l Fme g :

[Question ID = 3021][Question Description = $1_qSNz_PG_EDU_Q93]
1. A-V,B-ULC-1,D-1

[Option ID = 12081]
2. A-V,B-1,C-1,D-1

[Option ID = 12082]
3. A-ILB-N,C-1,D-V

[Option ID = 12083]
4, A-N,B-IV,C-1,D-1

[Option ID = 12084]

Correct Answer ;-
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# A-V,B-Il,C-1I,D-1

[Option ID = 12081]

54) Match List | with List Il

List | List Il

Training types Major Objective

A.Pre-service teacher training . acquaint new entrants with duty and reponsibility
B. Practice teaching Il. upgradation of knowledge

C. Induction training |III. to develop teaching skills

D. In-service teacher training lIV. understanding aims &objectives of education
Choose the correct answer from the options given below:

et -1t et -1l 3 e i
et | T
gfd121r w1 Yo i@ma‘t‘,&lﬂ

Alagd Rigees ||, e iz saweifra & el ofd gaers ol Uher a1
gfdraior QiAW

B. arsarer rgmm |II. = 15 e ) e Tz 1 5

C. gerekor gRrsror  [IIl. Rigror wierer wr Rreor

15 AU, NG ‘w. {121 @ £371 o e Bt HaE
gfdraror

ofr fon a1e el @ 21 w1t saz gieng ¢

[Question ID = 3022][Question Description = $1_q5Nz_PG_EDU_Q94]
1. A-1,B-1,C-1,D-1IV

[Option ID = 12085]
2. A-1L,B-1¥,C-1,D-1I

[Option ID = 12086]
3. A-NL,B-IV,C-1,D-Il

[Option ID = 12087]
4 A-IV,B-N,C-1,D-1

[Option ID = 12088]

®« A-IL,B-1,C-N,D-1IV
[Option ID = 12085]

55) Arrange the following in chronological order of being established :
A. NCTE

B. NCERT

C. UGC

D. BHU

E. NIEPA

Choose the correct answer from the options given below

foramteifiaa ot Jabt Fenus @ SRGATAR FYoatiernd Hifsm
A vaadi &t s

B.oazdtfam &

C. g st =

D, dtwayg

E.oaramdddin

oifer o are fmsedl 3 31 Adl 3nz 9o ¢

[Question ID = 3023][Question Description = $1_qg5Nz_PG_EDU_Q95]
1. D,C, B, E, A

[Option ID = 12091]
" CABRED



wWww.prepp.in .repp

Your Personal Exams Guide

[Option ID = 12092]
3. D,B,C, AE

[Option ID = 12089]
4, B, C,A D E

[Option ID = 12090]

Correct Answer :-

e« DB C AE
[Option ID = 12089]

56) The order of activity in advance organiser model of teaching is :
A. presentation of learning task/material

B. strengthening cognitive organisation

C. presentation of advance organiser

D. clarification of students' problems

Choose the correct answer from the options given below
fargor < 3P smRiswr disa 3 s o o 3 -

A. affem Rl / siftes sl B gegfa

B. Jsioinscs Fo1o01 I HEGIDIU

C. P Rigwr wwelt B it

D. ol &1 FaEsani o1 Fustioul

oifer o are fmsedl 3 3 Adl 3ne 9o ¢

[Question ID = 3024][Question Description = $1_q5Nz_PG_EDU_Q96]
1. A,B, D, C

[Option ID = 12093]
2. C,A B, D

[Option ID = 12096]
3. C,B,A,D

[Option ID = 12094]
4, B, A, C,D

[Option ID = 12095]
Correct Answer :-
« A B D0,C
[Option ID = 12093]

57) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: The teacher must be at the centre of fundamental reforms in the education system.
Reason R: The teachers shape the next generation of nations' economy.

In light of the above statements, choose the most appropriate answer from the options given below

oflA & weror Re s1w 3 1 wes w1 siffraserst (A) 3z g o ao (R) wsr sk §

sificperst (A) @ forgmn w1 fd1em yoneht & g FweRt & dig 3 diem wmize

aas (R) : frgrp e Bt srefcrasen 6t sErcll didt @) smpr 30 8

TR wusil D ancia # BewiRed Rooal 3 3 3138t o= gt &

[Question ID = 3025][Question Description = $1_qSNz_PG_EDU_Q97]
1. Both A and R are correct and R is the correct explanation of A/(A) sfiz (R) S =28 & sz (R), (A) 4 = == &

[Option ID = 12097]
2. Both A and R are correct but R is NOT the correct explanation of A/(A) 3z (R) =t =@t & woeg (R), (A) o5 =8 sy =2 2

[Option ID = 12098]
3. Ais correct but R is not correct/(A) = 2 ueeg (R) =t eif &

[Option ID = 12099]
4. Ais not correct but R is correct/{A) adt 72 2 oy (R) =2 2

[Option ID = 12100]

Correct Answer :-

# Both A and R are correct and R is the correct explanation of A/ (A) iz (R) @@l == & sfiz (R), (A) & == == &
[Option 1D = 12097]
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58) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: The effectiveness of an in-service training programme depends on the appropriateness of the content,
relevant to the objectives of training and has the potential to meet the training needs of the target group.

Reason R: The mismatch between objectives, content and needs of the training leads to wastage of resources.

In light of the above statements, choose the correct answer from the options given below

oildl €l werel Ru s1e 3 1 uw ol 3ifSipemt (A) sfiz g1 o aab (R) wer sk 3

sifdreeret (A) @ Jarea itz orloa &F gymaeiiaar aeel & adfoan uz Beir owdl 3, =0 gidiem & 2eal © o geifnr § s aga
AP Bt GIdIGIoT IS D Y21 B0l DI g Taaril 2

@ (R) : 329 , AR iz gforewr A snaeasar & e A of Ast A Al & gaket H 2eh 2
FRes Seell & Acls 3 i fmodt # 3F #dl 3az got @

[Question ID = 3026][Question Description = S1_qSNz_PG_EDU_Q98]
1. Both A and R are true and R is the correct explanation of Af(A) 3z (R) ==t =2t 2 3l (R), (A) @ o8t =ne=n £

[Option ID = 12101]
2. Both A and R are true but R is NOT the correct explanation of A/(A) iz (R) g6l =t & wsag (R), (A) & 7 = adt 2

[Option ID = 12102)]
3. Ajis true but R is false/(A) =& & v (R) st =t €

[Option ID = 12103]
4. Ais false but R is true/(A) 7t ot & uzorg (R) =t &

[Option ID = 12104]
Correct Answer :-
# Both A and R are true and R is the correct explanation of A/(A) 30z (R) Sl =8 € 3fiz (R), (A) &1 2t =re=n &

[Option ID = 12101]

59) Given below are two statements

Statement I: The aim of education in ancient India was not just the acquisition of knowledge as preparation for life in this
world, or life beyond schooling, but for the complete realisation of the self.

Statement ll: The aim of education should be cognitive development equipped with 21st century skills only.

In light of the above statements, choose the most appropriate answer from the options given below

ohi5) ) werot Ru s 3 :

weet - | ¢ greller s & Bign wr 32ea $o1 sera A Shaor B Teodt @ wa & o Renera A o Shaar # S e qufiy &8t en, aftrg wori
@ FAgpf arcarer o g en

werel - 1l @ gl @1 3gea dae 21 f w1l & wiora 3 uliygel dstmenras A glen mide
e sl & A # fomtafian frecal A 3 wafftes sups saz gl

[Question ID = 3027][Question Description = $1_q5Nz_PG_EDU_Q99]
1. Both Statement | and Statement |l are correct/mar | Az || Seil e &

[Option ID = 12105]
2. Both Statement | and Statement | are incorrect/usem | & 1| Siel =t adf &

[Option ID = 12106]
3. Statement | is correct but Statement Il is incorrect/wemt | 3t 2 , Foog orem || 32t o € |

[Option ID = 12107]
4, Statement |is incorrect but Statement (1 is correct/wem | w8t = & , Breg wom || = 2

[Option ID = 12108]
Correct Answer :-
® Both Statement | and Statement [l are correct/meer | Fi7 || Soil ==t &

[Option ID = 12105]

60) Given below are two statements

Statement |: Teacher education should be provided in all standalone TEIs as it requires high-quality content as well as
pedagogy and multidisciplinary inputs.

Statement ll: Regulatory efforts of teacher education regulatory body are able to curb the malpractices and able to enforce
basic standards for quality in teacher education.

In light of the above statements, choose the most appropriate answer from the options given below
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ohia) &) weot Ru s 3 :

weret - | 1 f21grs-13ign w1 w8 seapse TEN 3 gerar Rmn s wnide aaifts yoel 3o syoram aedt aee] @ arer-arer fogorenss i ag-
terereres forfafte & amaoarmar 2kl &

werat - |l ¢ e Bign faformaes fomr & farmeas yrra gyensii uz sl oee stz e Brgn 3 syoaar & e glernd mersi @ aeg
DIt A A T

IRivh Dol & el 3 foeiatian faasedl 3f 2 71t 30z oof ©

[Question ID = 3028][Question Description = $1_gSNz_PG_EDU_Q100]
1. Both Statement | and Statement [l are correct/wem | &z 1| St =2t &

[Option ID = 12109]
2. Both Statement | and Statement |l are incorrect foem | #iz || 6l s &

[Option ID = 12110]
3. Statement | is correct but Statement Il is incorrect/em | I £, fareg wem || sicrr 2 |

[Option ID = 12111]
4, Statement | is incorrect but Statement [l is correct/wem | s W= &, frog wem |l =8 2

[Option ID = 12112]

Correct Answer ;-

# Both Statement | and Statement |l are correct fosem | = || St 28 2
[Option ID = 12109]




